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Question Number : 1 Question Id : 54062619636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

CAE, FEJ, 110, LMT,
Options :
1. ¥ YOU
2. % OUY
3. % 0QY
4. = UIO

Question Number : 1 Question Id : 54062619636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferRad &R e o1 Q1

CAE, FEJ, 110, LMT,
Options :
1. % YOU
2. % OUY
3. ¥ 0QY
4. % UIO

Question Number : 2 Question Id : 54062619637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series:

A16C, B36D, C64E, D100F,
Options :

1. % E35G

2. % E169H

3. ®# F169G

4. ¥ E144G

Question Number : 2 Question Id : 54062619637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad e & T 3:

A16C, B36D, C64E, D100F,
Options :

1. % E35G

2. % E169H

3. ®* F169G



4. ¥ E144G

Question Number : 3 Question Id : 54062619638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series:

CWHK, FULL, ISPM, LQTN, OOYO
Options :

1. = ISPM

2. % LQTN

3. ®* FULL

4. % 00YO

Question Number : 3 Question Id : 54062619638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad g & TTad ug I1d B

CWHK, FULL, ISPM, LQTN, OOYO
Options :

1. ®* ISPM

2. % LQTN

3. * FULL

4.+ 00YO

Question Number : 4 Question Id : 54062619639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following words as per order in the dictionary.

1. Luxemburg
2. Luxury
3. Luxurious



4. Luxuries
5. Lucks

Options :

1. % 5.1,4,2,3
2. % 5,1,3,4,2
3.%5,2,4,3,1
4.945,1,4,3,2

Question Number : 4 Question Id : 54062619639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7T YIecf 1 ST HH H AT B ST HHAH J UsGHIT A 8Id &

1. Luxemburg
2. Luxury

3. Luxurious
4. Luxuries

5. Lucks

Options :

1.%51,4,2,3
2.%5,1,3,4,2
3.%5,2,4,3,1
4. 945,1,4,3,2

Question Number : 5 Question Id : 54062619640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % Barley
2. % Wheat
3. ¥ Jute



4. % Maize

Question Number : 5 Question Id : 54062619640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawmed & 9 & T (Y dRid 3 90 § | 8TalD, Uh [Aded 31 19 &1 dve ol ¢ | 34 [dded &1 78 B oIl 3 I 3T 5|
Options :

1. % S

2. % g

3. ¥ ¢

4. % by

Question Number : 6 Question Id : 54062619641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # ACEG
2. % MOQS
3. ¥ GHUL
4. % RTVX

Question Number : 6 Question Id : 54062619641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & 9 o U i3 dRich 1 90 8 | gTallich, U [dahed o A &1 TRE ol 6| 3% [Adhed HI Ia- B off 30 J 3T |
Options :

1. * ACEG

2. % MOQS

3. ¥ GHUL

4. % RTVX




Question Number : 7 Question Id : 54062619642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Ornithology : Birds
2. % Mycology : Fungi

3. % Phycology : Algae
4. ¥ Herpetology : Insects

Question Number : 7 Question Id : 54062619642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawmed & 9 & Te iy e I 90 § | 8TalD, Uh fAwed o1 9 & de -Te] ¢ | 39 [aded &1 78 &3 Sl 3 ¥ 3T |
Options :

1. % Uefifaqi : uait

2. % HIh-fAYH : Hab

3. % QaTAfag ; YA

4. ¢ IUIYUIGRM : BIc

Question Number : 8 Question Id : 54062619643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % DEAT - AEDU
2. % KREN - ERKO
3. ¥ COIL- OICP
4. % BINE -NIBF



Question Number : 8 Question Id : 54062619643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fiweal A @ & e Rfya %  TuE 81 gTlTP, T faeed 3 diF o1 aRE Tl ¢ | 39 fahed &1 I &Y oY 30 ¥ 3T B
Options :

1. ¥ DEAT - AEDU

2. # KREN - ERKO

3. ¥ COIL- OICP

4. * BINE -NIBF

Question Number : 9 Question Id : 54062619644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Kangaroo : Australia :: Bengal Tiger : ?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Bangladesh

2. Nepal

3. India

4. Bhutan

Question Number : 9 Question Id : 54062619644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dored &1 999 B S el Ue I I UHR ¥ A&fd ¢ o UHR ¥ gkl UE Ugd U & Hafdd g

IR : SRR +: ST &7 : 2




Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. SR

2. AU

3. HIRd

4. HCIH

Question Number : 10 Question Id : 54062619645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Doctor : Stethoscope :: ?
Options :

1. # Policeman : Thief
2. % Mechanic : Tools
3. # Jailer : Prisoner

4. % Teacher : Student

Question Number : 10 Question Id : 54062619645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS B T B S Uy A ) 12 S & 9HH YR I Yefa ]
fafeds - aRkyma® - 2

Options :
1.¥3tﬁm:€ﬁ?

2. ¢ Tt - U
3. % TR : ot

4. % 18/ . B



Question Number : 11 Question Id : 54062619646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

EKRP : HHUM :: IRDP : ?
Options :

1. * LGMN

2. % KSEQ

3. ¥ LOGM

4. % KESQ

Question Number : 11 Question Id : 54062619646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S ik UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g

EKRP : HHUM :: IRDP : ?
Options :

1. * LGMN

2. % KSEQ

3. ¥ LOGM

4. = KESQ

Question Number : 12 Question Id : 54062619647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

KQE:PLJ::?
Options :
1. % TFN : XAS



2. % QDP: YAS
3. ¥ SFM : XAR
4. % SGN : YAT

Question Number : 12 Question Id : 54062619647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B Sl Uy B &) 7S St A 99H YR O J&fid B

KQE:PLJ::?
Options :

1. # TFN : XAS
2. % QDP: YAS
3. % SFM : XAR
4. % SGN : YAT

Question Number : 13 Question Id : 54062619648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code COMMA is coded as 19225, and YELLOW as 764493, then WELCOME will be coded as:
Options :

1. % 3645926

2. % 3641956

3. % 3621925

4. ¥ 3641926

Question Number : 13 Question Id : 54062619648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s fAfYa B # cOMMA B 19225 & TU & HIfSd fooar a1 8, 3R YELLOW &1 764493 & =0 H Shifed fba1 71 8, df WELCOME &1
P UpR Pifsd fosar Smam:

Options :



1. * 3645926
2. % 3641956
3. % 3621925
4. % 3641926

Question Number : 14 Question Id : 54062619649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if Violet is called as Green, Green is called as Red, Red is called as Brown, Brown is called as Orange, Orange is
called as Yellow, Yellow is called as Blue and Blue is called as Indigo, then what is the colour of human blood in that language?

Options :
1. * Red
2. ¥ Brown
3. * Blue

4. % QGreen

Question Number : 14 Question Id : 54062619649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfYd $re yrw , afe ST oY §R1 BT TTAT B, 811 B A1 gl TIAT §, IS bl 4RT Bl AT B, 4R Bl AR gt T 8, AR Bl e
81 41 &, Ul D! =iel gl 71 § SR =Hidl DI SIS HoT 1 &, Al I U & HIHd 5 BT I T 62

Options :

1. * el

2. ¥ WX

3. % e

4. % gl

Question Number : 15 Question Id : 54062619650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language,



1) 'John and Jill play football' is coded as 'sas rir fas tin kar'

i1) 'John try his best to win the game' is coded as 'lam kar pin zar at ion jin mir
ii1) 'Football is the best game to play' is coded as 'ke mir ion fas jin at rir'

1v) 'Jill and Jack don't win' is coded as 'sas tut mon tin zar'

'John is the best player ' can be coded as ?
Options :

1. % Kar rir ion jin sas

2. % Kar yui ke jin mir

3. % pin lam tut mon ke

4. ®# min pin mon ke zar

Question Number : 15 Question Id : 54062619650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (Afd Pig T A,

1) 'John and Jill play football' @1 'sas rir fas tin kar' & &0 H Plisd fbar 71§

ii) 'John try his best to win the game' P! 'lam kar pin zar at ion jin mir' & =0 H PIfsd fobar T %’
iii) 'Football is the best game to play' @I 'ke mir ion fas jin at rir' & w0 A pifsd fearmn g

iv) 'Jill and Jack don't win' P 'sas tut mon tin zar' b U T Hifed a7 7T %

'John is the best player‘ﬁ & =0 H PIfsd fbar S

Options :

1. % Kar rir ion jin sas
2. % Kar yui ke jin mir
3. # pin lam tut mon ke

4. # min pin mon ke zar

Question Number : 16 Question Id : 54062619651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain language, DUPLEX is written as CWOKGW. How is KNOWLEDGE written in that code?
Options :



1. ¥ IMQVKFCGF
2. ¥ IMQVKGCFG
3. ® JIMQVKGCGF
4. % JMQVKGCFC

Question Number : 16 Question Id : 54062619651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ff3d YT &, DUPLEX &1 CWOKGW & =0 & foral T 81 39 ®I€ § KNOWLEDGE $1 ¥ foran s
Options :

1. ¥ JMQVKFCGF

2. ¥ JMQVKGCFG

3. # JMQVKGCGF

4. ¥ IMQVKGCFC

Question Number : 17 Question Id : 54062619652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 persons A, B, C, D, E and F are standing in a row facing north. C is standing to the left of A. B is standing to the right of E. F is standing to the
right of A and is standing to the left of E. D is standing to the left of C. Who is standing 3rd from the right end of the row?

Options :
1. % E
2. % A
3.¥F
4. % C

Question Number : 17 Question Id : 54062619652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 AfAT A, B, C, D, E 3R F 3R &1 RW Yg o' UHh Ulad H WS €1 C, A P I18 3R TSI || B, E B a8 IR WIT 5| F, A DI A5 3R
W2 AR E B T AR TSR D, C F T 3R W1 21 U F IR BR Y 3 P @I 29

Options :




1. * E
2.% A
3.¥F
4. % C

Question Number : 18 Question Id : 54062619653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five students A, B, C, D and E appeared in an exam. B got more marks than C, who got less marks than E. A and C got more marks than D.
Which of the following pair could have got the highest and the least marks respectively?

Options :
1. % E,C
2.9 B,D
3.C,D
4. % A, C

Question Number : 18 Question Id : 54062619653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 8 A, B, C, D 3R E T U1 & IURA §UI B B € ¥ TP 3 U gT, fS E T &4 3 W I A 3R € B D J 31feap 3
T 8T FEfaRad & 9 & It SISl & hHRT: ol e 3idh U 81 9dhd U 3R Jad &1 3idh U g1 9ahd 2

Options :

1. % E,C

2.¥B,D

3.%C,D

4. % A, C

Question Number : 19 Question Id : 54062619654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.



Options :

1.9 2134 - 40
2. % 3712 -60
3. % 7851 - 180
4. % 6932-150

Question Number : 19 Question Id : 54062619654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl & @ & e g % F gaM &1 gTdifes, T fAded 370 9 &1 g 781 81 39 fdched &1 T &3 oY 370 T 3(ciT g |
Options :

1. ¥ 2134 -40

2. % 3712 -60

3. % 7851 - 180

4. % 6932-150

Question Number : 20 Question Id : 54062619655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Analyse the given information and answer the question that follows.

Following conditions are to be fulfilled in order to become the hero of a film:

(a) The person should have a good track record, i.e. the rate of success of that particular person as a hero should be at least 70 percent.
(b) The person should have been in the industry for at least 5 years.

(c) The person should ask for a remuneration of less than Rs.10,00,000 per film.

(d) The person should be able to give dates continuously for at least one week.

In case a condition given above is not satisfied, the following alternate condition should be applied:

(e) If condition (a) is violated, and the hero has a success rate of greater than 50 percent in films, but a good success rate with the heroine he is
going to work with in the film, then take the suggestion of the heroine; OR

If condition (a) is violated, but the hero is successful in the type of films the Producer is making, then take the advice of the Producer.

(f) If condition (d) is violated, but the hero can work for at least 15 days in a month, may not be continuous, then the hero can be selected.

Ritesh is a hero, who has 65 percent hits in his career, and charges Rs. 8,00,000 per film. He has been in the film industry for the past 7 years and



has 90 percent hits in the type of the films the Producer is making. He is ready to abide by condition (d). What decision should be taken about this
person?

Options :

1. # The Person should be selected as a hero.

2. # The Person should not be selected as a hero.

3. # The heroine should be consulted regarding the decision.

4. ¥ The Producer should be consulted regarding the decision.

Question Number : 20 Question Id : 54062619655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS TR T faeIyu 3 3R UY 61 SR ¢ ol M UHR 2|

e &1 8RI 87 & fore Fgfafad waf &1 @ farar S =nfee:
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|
(b) SATKT D1 HH Y HH 5 IV & fw ST A G alRUI
(c) Afdd &1 Ufd e 10,00,000 TUT T HH HT GIRYHS AT A1
(d) fF B HH J HH Th T8 dP ANAR dRIG &4 H JeH g1 a1fgu

e SR < 7S T 1 TP Y Bt 7, ) Fufoiaa dw s 2 arp @t S anRT:

(¢) TS T (a) BT IcTg fHdT T &, aﬁ?@ﬁﬁ%ﬂﬁﬁmﬂﬁwﬁasomﬁ%% AP frer o 98 S iz & Iy

HTH B o X1 8, SUD 1Y Th 3! IHaAdl X o, Al GIRIS BT JJd

Hﬁmﬁ(a)mdmudmwldl% ﬂl¢ﬂﬁﬂﬁmWﬁﬁ@WW%dHH@ﬁHmﬂ% ar fAmfar =1 g o
U%ﬂ%(d)ﬁdmuﬂmwdl% AfhT 8RR 78 H HH A HH 15 I3 B o= Il g, FRaR 781 it 81 Iopar g, a R &1 a4 fan

S Hhdl g |

feaer Tes gRI €, Form wRaR ¥ 65 ufawrd fge Ru §, ofik ufa foved 8,00,000 0T a1 81 98 e 7 9t & fvey ST & § ok fAmfar for
R Bt fibed 913 & ITH 90 Ufard e fRu 1 98 2 (d) &1 UaH & & ot R g1 39 safad & 9 # o Aol forar s =nfgwe
Options :

1. % Sfdd Dl BRI & =0 T A1 ST A1

2. % Hfdd Dl BRI & =0 § gl g1 ST A1 |

3. % Fuig & Ay | gRIsT § e fovan S =nfgul

4.« ol & ey § Fuidr 9w fasar S el




General Ability2

Group Number : 2

Group Id : 540626755
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Ability2

Section Id : 540626937
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261132
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062619656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question one statement is given, followed by arguments, I and II.You have to decide which of the argument is strong.

Statement: Should male labourers be paid more than female labourers?



Arguments:
I. Yes. Even physiologists confirm that men are physically stronger than women.
II. No. Equal work should be paid equally irrespective of gender.

Options :

1. * Only argument I is strong

2. % Only argument II is strong

3. # Both arguments I and II are strong

4. % Neither argument I nor II is strong

Question Number : 21 Question Id : 54062619656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy H U Sy fear mar €, 59 1 gl a1 3R 11 flRu 7w g1 3nuen! g vk o g for fRwmfafaa & 9 &9 91 ad 99d ¢
DU T BN YiHD] DI Afgell DI T 3HfUd YITar fobar S anfgy?

db:

1§11 T81 ao fob IRIRfeha fasirt 59 91d &t g i & o gow Afeanshi &1 g & JIRIRG U ¥ 31 Holgd 81d & |
1178 | ot o STale, T S & e [ YITa foar ST area|

Options :

|. % Hgd ddb | I §

2. ¢ Had a® 11 994 §

3. % [ 3R 11 GHI db I9d §

4. % F13RA 1P J9d

Question Number : 22 Question Id : 54062619657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement is
true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in the
statement.

Statement:



People mostly prefer high speed net connections.

Conclusions:
I) High speed internet connections are very cheap.
IT) People don't want to wait for long time for their web pages to load.

Options :

1. # Only I follows

2. % Only II follows

3. % None follows

4. % Both I and II follow

Question Number : 22 Question Id : 54062619657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A UY T, U Hy- a1 a1 ], foraes a1e, &t ey whaiferd 18R 11 3T 7T 81 78 7 U fob e o Ot STFeRt I g, &l fsew st ot
TP 1Y fa=aemr 1 3R Fuffed &3 for 71 370 9 18 off difhes 0 T iR Y ©0 ¥ Sy 8§} T TSR] BT 38R0 BT ¢ |

HY:
AT FIETdR 3= T & ¢ H-1aRH Dl YU d g |

fsep:

1) 3= 71 & e HoRM 950 I ¢

1) 1T 309 39 Uoll & IS B & o de THY b SaoIR T8 AT a8 g |
Options :

1. % Had [ SR Il §

2. ¢ HAd 11 TR BT 3

3. % Pig o} SFIERUI TG Bl &

4. % 1 3R 11 G SRV HRd §

Question Number : 23 Question Id : 54062619658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement
is true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in
the statements.

Statement I: All benches are umpires.
Statement II: Some umpires are towels.
Statement I1I: All towels are ties.

Conclusion I. Some towels are benches.
Conclusion II. Some ties are umpires.

Options :

1. % Only I follow

2. % Only II follow

3. % None follows

4. # Both I and II follow

Question Number : 23 Question Id : 54062619658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A UY A, 0 By feu U B, S a1g, 3l Fsas shiford 1 31 11 faU T8 3 | 98 AHd gU 6 Sy & @uft o) 9§, sl ol
TH 1Y fazayur &3 3R FHuiRa & fs 71 390 4 #is 1t difches © 0 1 SR iy ©0 9 Y= & € 18 THGRI &1 SR Bl 7 |

HYF 1 gH o SR B
FY 11 TS SR A B |

HY 111 JHt Afere eTs |

st . $ difcd ST g |
fSHT: 11. F3 T8 TR g |
Options :

1. % Had [ IR0 Hl §

2. ¥ I 11 TRV BT §

3. % BIg Hi TR & HRAT B
4. % 3R 11 GFIT SRRV IR §




Question Number : 24 Question Id : 54062619659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two course of actions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given course of action, if any, follows from the given statement.

Statement: Children fall sick when they eat roadside food.

Course of Actions:
L. Parents should not allow their children to eat roadside food but rather try to prepare that type of food at home.
II. The children should be taught about what is healthy food and that the type of food prepared on the road side cause illness.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 24 Question Id : 54062619659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T HY fear a1 8§, o 91 PR & &l pH 1 3R 11 AT U § | 3MUp! 37 Y1 ! I HFAT 8, Wl & g JrH=Id: I1d a3
o diid 811 3mue g iy O R b feu U ke & 0§ A 19 91, 3fe P13 81, A T T Y 1 STERU HRaT B |

HYT: TSP fH-R e arad HivH 1 TH I 7= SR Usd & |

HTATs BT HH:
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11, =1 1 U RIRam ST Anfet fob Ty HISH &1 8 3R IS UR ST 7T HiviH 59 bR &t STHRT 6T SR §dT ¢ |
Options :

1. % had | 3TV BT &

2. % HAd [1 IR0 Bl &

3. ¥ 1 3R 11 GIF! AR % §

4. % F1 3R TE I SIR0 BT &




Question Number : 25 Question Id : 54062619660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:

7,13, 25, 49, 97,
Options :
1. ® 191
2.9 193
3. % 195
4. % 197

Question Number : 25 Question Id : 54062619660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad der Jadr o [ o
7,13, 25, 49, 97,

Options :

1. % 191

2.9 193

3. % 195

4. % 197

Question Number : 26 Question Id : 54062619661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong number in the following number series:

42,48, 60, 66, 78,91
Options :
1. % 42



2. % 48
3. % 60
4. 91

Question Number : 26 Question Id : 54062619661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad e e § Tad S I1d B

42,48, 60, 66, 78, 91
Options :

1. % 42

2. % 48

3. % 60

4. ¥ 9]

Question Number : 27 Question Id : 54062619662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of (?) from the given alternatives.

72| 63 | 54

BO | 72 | B3

52 45 ?

Options :
1. % 37
2. % 39
3.¥ 36
4, % 35



Question Number : 27 Question Id : 54062619662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad uy & 39 Jen &1 9ga &3 o R e fawedi T (7) & RIg W@ ST T g

72| 63 | 54

BO | 72 | 63

52 45 ?

Options :
1. % 37
2. % 39
3.¥ 36
4. % 35

Question Number : 28 Question Id : 54062619663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A=B>C>D=E <F <G, which of the following expressions is definitely true?
Options :

1.* C>E

2. % E>A

3.9B>E

4. % F>C

Question Number : 28 Question Id : 54062619663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf¢ A=B>C>D=E<F<G,dl afaRad & 9 &H 1 &ive Hiyd ¥ 9 a3 82
Options :

1.%* C>E

2. % E>A



3.9 B>E
4. % F>C

Question Number : 29 Question Id : 54062619664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between human, advocate and director?
Options :

.©o

2.¥

DO

Question Number : 29 Question Id : 54062619664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad # @ o9 1 37 3 71Fg, 9o id iR Adwe & §ig & deel & g 3rs1 <2ifdr 82

Options :



Question Number : 30 Question Id : 54062619665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given figure, what is the total number of people who watch Hotstar and Netflix both and also all three streaming platforms?

Hotstar
L Q Amazon
O|R
M P N

Netflix




Options :

l.% L+M
2. R+Q
3. R+M+L
4. ¥ O+R

Question Number : 30 Question Id : 54062619665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 172 3M1pfa H, BleeR SR Aeftaay ! ofiR ard # Tt i1 W wiewH < aTal & S Tl 1 g2

o

BICLCIY

| O |
Py

Options :

I.* L+M

2. % R+Q
3. R+M+L
4. ¥ O+R

Question Number : 31 Question Id : 54062619666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between eraser, sharpener, pen?



Options :

©@ B & @

Question Number : 31 Question Id : 54062619666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRad 7 ¥ &1 1 37 3MW §S, YMUR, HAH P 91 & o bl Ja 33T Sidl 82

Options :

33

2. %

1.



QO
()

Question Number : 32 Question Id : 54062619667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given figure, which letter represents the players who play only Golf and Football?

3. ¢
4. %

C —Football

Options :
1.*D
2.¥G
3.% B
4, % F

Question Number : 32 Question Id : 54062619667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&I TS 3T H, B AT 31&R Had e AR Fedrd Wa- ard RIansdl o1 ufaffid HRdl g2

Options :
1.* D
2.¥G
3.% B
4. % F

Question Number : 33 Question Id : 54062619668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

O oo olle; O
P * e o ° o e o
o U o e o L) g
O O O O
Options :
O
L B
o’
@)




O O
.‘..
[ BN
2. =
O
. @
L ]
[ BN ]
3. = =
O
e @
L ]
[ B ]
4. B

Question Number : 33 Question Id : 54062619668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I IR P UY P H U I R BN

0] oo Q|0 a
. * e o0 ® . e o
e (I () o o0 g
O 9] O O
Options :
O
L N
o’
1. # Q
(W O
L B
o’




O

& @

L ]

[ 3 ]
3.%1:'

O

e @

.

a9
4. v B

Question Number : 34 Question Id : 54062619669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :




Question Number : 34 Question Id : 54062619669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA UY 3MH T H U Bl B
?

Options :

1. ¢




Question Number : 35 Question Id : 54062619670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

(A) (B) (C) (D)
Options :
1. % A
2.% B
3.% C
4. ¥ D

Question Number : 35 Question Id : 54062619670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad & § o1 91 fawen saen § Tad i g2




(A) (B) (C) (D)
Options :
1. % A
2. % B
3.% C
4.¥D

Question Number : 36 Question Id : 54062619671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

X + |+ X
O A
- * | * O
Options :

A o0 o

+ X
L% O x|+ A
* d| * w

+ +
¥ olo -




5 * | % S
O L
+ Al O
3.
N o0 W
= O
433&. o|o -

Question Number : 36 Question Id : 54062619671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT Ig B S Uy T <1 718 Sl ¥ 9HH ISR 4 Tafd ]

Options :
A o0 o}




5 %* | % s
O ®
+ AlA u]
3.¢
N Q|0 W
- m]
4 % LB 0|0 -

Question Number : 37 Question Id : 54062619672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number will come opposite to number 2 in the following regular dice?

(i) (i)
Options :
1. %5
2.% 1
3.% 6
4.3

Question Number : 37 Question Id : 54062619672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed Fafta ura & e 2 & Judia &9 <t I s



(i) (i)
Options :
1. %5
2. % ]
3. % 6
4.¥3

Question Number : 38 Question Id : 54062619673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :




3

3. ®

4. %

Question Number : 38 Question Id : 54062619673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3P T, I NPTl T TgT B oG Uy 3pfa AR g

Options :



1. ¢

3

3. %

Question Number : 39 Question Id : 54062619674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened.

L

:
]
*
:
“.\’
.
:
:

5




Options :

Question Number : 39 Question Id : 54062619674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 & 1S Uy Spfa H AT SR BT & Ueh Thg &l HIST 7T § 3R 1el T g1 &1 718 IR A1 H T, 3Rd &3 fb Wil o R
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Options :

L]
o O
o
O o
% D
o O
o)
8] o
2. %
]
[o] (0]
3. C
|
O
O
o
4. % D

Question Number : 40 Question Id : 54062619675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the correct image of the given figure?

Options :



4

O
Vi
TS

Question Number : 40 Question Id : 54062619675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

General Awarenessl

Group Number : 3

Group Id : 540626756
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl

Section Id : 540626938
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261133
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062619676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following built the Humayun Tomb?
Options :

1. #* Aurangzeb

2. % Jahangir

3. #* Shah Jahan

4. ¥ Bega Begum

Question Number : 41 Question Id : 54062619676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o ¥ forem AR &1 HahaRT =11 412




Options :

1. % R
2. % TQIIR

3. % g T8l
4. W

Question Number : 42 Question Id : 54062619677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Domkach folk music is associated with which of the following states?
Options :

1. % Sikkim

2. % Manipur

3. % Jharkhand

4. % Goa

Question Number : 42 Question Id : 54062619677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHH A Tiid FafeRad § 9§ ford s 9 98132
Options :

1. # fufded

2. % HOQR
3. ¢ PIRITS
4. % Tar

Question Number : 43 Question Id : 54062619678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Theyyam dance form is often performed to praise Goddess
Options :



1. % Kali
2. ®* Laxmi

3. # Saraswati
4. % Radha

Question Number : 43 Question Id : 54062619678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TG ¥ SRR odl ! TR R & o foran ST |
Options :

1. ¢ BTl

2. % e

3. % TR

4, % Y]

Question Number : 44 Question Id : 54062619679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The “Pongtu Kuh” festival is an integral part of the socio cultural life of the Arunachal Pradesh, which is celebrated every year in the month of

Options :

1. # January
2. # June

3. % March
4. % April

Question Number : 44 Question Id : 54062619679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"OHTE $E" AR UK TRl o ATHINTS ARG Siia ol T 31 3§, o gv adf & A H AR ST g |
Options :

1. % SEat




2. % S
3. % O™
4. ¥ 30

Question Number : 45 Question Id : 54062619680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following can be defined as the total market value of the goods and services produced by a country's economy during a
specified period of time?

Options :

1. # Gross National Product
2. # Net National Product

3. % Gross Domestic Product
4. # Net Domestic Product

Question Number : 45 Question Id : 54062619680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed 8 3 fd iy T91a & SR foddl S o1 siicuawit gRT IdTed avgsit R Jarsil & $d SNk g & =0 8 TRy fasar
SIRETIN

Options :

1. % FHol AP IdTG

2. % g P IdIQ

3. ¢ Ihd IR IS

4. % Tad <=M IdG

Question Number : 46 Question Id : 54062619681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In April 2019, Vijaya Bank and were merged with Bank of Baroda.
Options :

1. ¥ Dena Bank



2. % (Canara Bank
3. # Corporation Bank
4, % Central Bank of India

Question Number : 46 Question Id : 54062619681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2019 H, faoran & 3R B! S 3ATH Telar A TfIe o f&ar my Ut
Options :

1. ¥ G D

2. % HRIdH

3. % PO ddb

4. % I 9 3TH e

Question Number : 47 Question Id : 54062619682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of Bank of India is located in which of the following cities?
Options :

1. % Kolkata

2. # Chennai

3. # Bengaluru

4. ¥ Mumbai

Question Number : 47 Question Id : 54062619682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

de 31T Sfear o1 greed gl o 9 fea wer A fRua g2
Options :

1. % DIDIAl

2. % TS



3. % S
4. Y3

Question Number : 48 Question Id : 54062619683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following components is subtracted while calculating the Gross Domestic Product (GDP)?
Options :

1. # Consumption

2. % Investment

3. % Export

4. ¥ Import

Question Number : 48 Question Id : 54062619683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

hdl IR SATE (GDP) B! TUHT o GHT FRafifad § § 1 U1 gew ger ol g2
Options :

1. % JUHNT

2. % {499

3. % fyaiq

4.« AIId

Question Number : 49 Question Id : 54062619684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2020, the customs duty on footwear has been increased to from 25 percent.
Options :

1. % 28 percent

2. % 35 percent

3. # 30 percent



4. % 32 percent

Question Number : 49 Question Id : 54062619684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ole 2020 H GIYUM & 3FIER, TeATUN (HeddR) TR T Yedb 25 Ufa<d 4 I de1 fem mar g
Options :

1. % 28 Uf=rd

2. ¢ 35 gid=rd

3. % 30 fcRrd

4. % 32 Yia=rd

Question Number : 50 Question Id : 54062619685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gir Wildlife Sanctuary is situated in which of the following states?
Options :

1. # Mabharashtra

2. % Goa

3. # Andhra Pradesh

4. ¥ Gujarat

Question Number : 50 Question Id : 54062619685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R g=ohig srvaRuy fRyfafad 7§ 3 fa Tsa A fRua g2

Options :

1. % HERIY
2. % AT

3. % Y U
4, « T[SRId



Question Number : 51 Question Id
Orientation : Vertical

: 54062619686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is an example of a second class lever?

Options :

1. # Scissors

2. ¥ Wheelbarrow
3. # Broom

4. ¥ Hockey Stick

Question Number : 51 Question Id
Orientation : Vertical

: 54062619686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

fofefaa & @ o fgdia 9uft & Ies &1 IR e?

Options :
1. % &l
2. ¢ ThYfedl el
3. % §I'I_§:
4. % Gl DI T

Question Number : 52 Question Id
Orientation : Vertical

: 54062619687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Chara belongs to which of the following plant kingdoms?

Options :

1. # Gymnosperms
2. % Angiosperms
3. ¢ Thallophyta
4. ¥ Bryophyta

Question Number : 52 Question Id

: 54062619687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IRT Fgfead & @ feg arwfa-srma @ gefda g2
Options :

1. % 3HTgdsISIl

2. % JTgdersil

3. ¢ YQHIZel

4. % RGBT

Question Number : 53 Question Id : 54062619688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Swachh Bharat Abhiyan was launched by the Prime Minister on birth anniversary of Mahatma Gandhi.
Options :

1. ¥ 150th

2. % 160th

3. ¥ 100th

4. % 120th

Question Number : 53 Question Id : 54062619688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TETHT el i S R T gRT Waw YR A YR fohar a7 AT
Options :

1. ¢ 150d1

2. % 1609l

3. % 1004l

4. % 1204

Question Number : 54 Question Id : 54062619689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following minerals is added to common salt to prevent goitre?
Options :

1. # Copper

2. % Kynaite

3. % Tron

4. ¥ Todine

Question Number : 54 Question Id : 54062619689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 Y At 3 R R e Pl whiet 39 i Sersmar e
Options :

1. % d¥

2. & HAIgC

3. % dIgl

4. SIS

Question Number : 55 Question Id : 54062619690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states is the largest producer of rice in India as of March 2020?
Options :

1. # Andhra Pradesh

2. ¥ West Bengal

3. #¥ Uttar Pradesh

4. ¥ Punjab

Question Number : 55 Question Id : 54062619690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad & ¥ o9 1 I A1 2020 96 HRA § I19d BT G 981 IUTCH 82




Options :

1. % TR TR
2. ¢ UiZH S
3. % TR UK

4, ® U9

Question Number : 56 Question Id : 54062619691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Arma Konda mountain peak is located on which of the following mountain ranges?
Options :

1. % Aravalli

2. # Satpura

3. ¥ Western Ghats

4. ¥ Eastern Ghats

Question Number : 56 Question Id : 54062619691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRHT ST udd RRaR Faferied o 9 ford udaamar = fRa g2
Options :

1. % SRIqdl

2. % gdysl

3. % Uige gre

4. gdiare

Question Number : 57 Question Id : 54062619692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Srisailam Dam is built across which of the following rivers?
Options :



1. ¥ Krishna
2. # Godavari
3. % Mahanadi
4. ¥ Tapti

Question Number : 57 Question Id : 54062619692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey sty Fafafed & 9 oy 9 R s m g?

Options :
1. ¥ W
2. % TGTeRt
3. % Tl
4. % QTG

Question Number : 58 Question Id : 54062619693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following states does not share it's borders with China?

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Assam

2. Sikkim

3. Madhya Pradesh

4. Himachal Pradesh

Question Number : 58 Question Id : 54062619693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiad o O S 91 I = & 1Y 3T Weredl D1 9reh 8l Bl 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 39H

2. RifepH

3. A SN

4. feumaa vem

Question Number : 59 Question Id : 54062619694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Dandi March start?
Options :

1. % 1930

2. % 1925

3. % 1919

4. % 1920

Question Number : 59 Question Id : 54062619694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SISt OTd &d T g1 Ul

Options :

1. % 1930

2. % 1925

3. % 1919

4. % 1920

Question Number : 60 Question Id : 54062619695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SIS BT R GHSNAT He IR o T 412
Options :
1. # 1814
2. % 1782
3. ¢ 1793
4. % 1825

Question Number : 60 Question Id : 54062619695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Permanent Settlement of Bengal introduced?

Options :
1. = 1814
2. % 1782
3.4 1793
4. = 1825

General Awareness2
Group Number : 4
Group Id : 540626757
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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General Awareness2

Section Id : 540626939
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5406261134
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062619696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following movements was also known as the Indian Muslim movement?
Options :

1. ¥ Khilafat Movement

2. % Quit India Movement

3. # Civil Disobedience Movement

4. ¥ Azad Hind movement

Question Number : 61 Question Id : 54062619696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad sreraql 7 9 ford YR GRad saiad & &g & Hf ST STrar 41

Options :

1. ¢ Raarhd <l

2. % YRd DTSl 3Tl
3. % i 3fa3l frala
4. % 3ITSTTG g s<are




Question Number : 62 Question Id : 54062619697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the ruler of Delhi when Chengiz Khan conquered some kingdoms on the banks of River Indus in 1221 A.D.?
Options :

1. # Babur

2. ¥ Iltutmish

3. % Humayun

4. ¥ Muhammed Shah

Question Number : 62 Question Id : 54062619697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl o XM HF U, TG 1221 741 T et @ = Rig 9 & d¢ W $© I3 WR oo ured &t i
Options :

1. % dla}

2. ¥ JogdiHRT

3. % gy

4. % TEHIE 26

Question Number : 63 Question Id : 54062619698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Prarthna Samaj of Bombay founded?
Options :

1. ¥ 1867

2. % 1862

3. % 1875

4. % 1879

Question Number : 63 Question Id : 54062619698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1Tl T UTHT THTS e QAT foa am um
Options :

1. ¥ 1867

2. % 1862

3. % 1875

4. % 1879

Question Number : 64 Question Id : 54062619699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the National Bank for Agriculture and Rural Development (NABARD) established?
Options :

1. #® 1975

2. % 1978

3.9 1982

4. % 1985

Question Number : 64 Question Id : 54062619699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B SR AT [T o (ATETS) BT RITAT Hd B1 775 22
Options :

1. % 1975

2. % 1978

3.9 1982

4. % 1985

Question Number : 65 Question Id : 54062619700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



"Serve to Win" is written by which of the following sportsperson?
Options :

1. ¥ Novak Djokovic

2. # Roger Federer

3. % Rafael Nadal

4. % Saina Nehwal

Question Number : 65 Question Id : 54062619700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg et gr1 4 ¢ faq fordt 718 82
Options :

IR I CICANIEICE

2. % YR e

3. ¥ YBIUA d8Td

4. % g1 Agdrd

Question Number : 66 Question Id : 54062619701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was awarded the knighthood in 1915 but returned it in 1919 as a protest against the Jallianwala Bagh Massacre?

Options :

1. # Shyama Prasad Mukherji
2. # Syed Ahmed Khan

3. % Rabindranath Tagore

4. % Aurobindo Ghosh

Question Number : 66 Question Id : 54062619701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®I 1915 T AZcgs A T a1 77 o1, TR 1919 & Sferdiara a1 g e & faR1Y & U & 39 el fam

Options :



1. % QYHYEIG g@Sit
2. % TS 3gHE T@H
3. ¢ gAY IR

4. % 3Rfd< 9N

Question Number : 67 Question Id : 54062619702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first person to win the Jnanpith Award?
Options :

1. # Ashapurna Devi

2. % G. Sankara Kurup

3. % Gopinath Mohanty

4. ®# Umashankar Joshi

Question Number : 67 Question Id : 54062619702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRfIRed § I D19 IFU6 REBR St aTaT Tgal fad 12
Options :

1. % 3=myur &t

2. ¢ Sl YR H3Y

3. % U digdt

4. % JUTRHR SR

Question Number : 68 Question Id : 54062619703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every year, Rajasthan celebrates its Statehood Day on

Options :
1. # 5th April



2. % 3rd April
3. ¢ 30th March
4. % 1st April

Question Number : 68 Question Id : 54062619703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X TN, ISR P AT Iy feag FaT 2 |
Options :

1. % 530d
2. % 3 30d
3.¢ 30 U
4. % 1 30

Question Number : 69 Question Id : 54062619704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On March 31, 2020, the Ministry of Tourism had launched which of the following portals to support foreign tourists?
Options :

1. ¥ Stranded in India

2. # Stuck in India

3. # Help in India

4. % Locked down in India

Question Number : 69 Question Id : 54062619704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 HTE, 2020 B, Gded Harad A faefh udes! & guda 27 & forw fRufalRad # @ oF ar oida ar= fasar um

Options :

1. ¢ s e 3 sfedr
2. % WP 38Tl




3. % geg s gfsa

4, % TIds SIS S sfadT

Question Number : 70 Question Id : 54062619705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Scheme for Promotion of Manufacturing of Electronics Components and Semiconductors (SPECS) launched by the Government of India
provides an incentive of of the capital spent on establishing an electronics plant, equipment, machinery, technology.

Options :

1. # 10 percent
2. % 15 percent
3. % 20 percent
4. % 25 percent

Question Number : 70 Question Id : 54062619705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR IRBR gRT [ B T3 SAGND Uch| 3R AHidrsdex] & AT Yag- B AT (SPECS), AT Wie, IUh 0T, AR,
TN &1 RATTHI IR G &1 715 Goht BT &1 T8 UeH HRal g

Options :

1. % 10 Ufa=rd

2. % 15 gfa=rd

3. % 20 Ufa=Ia

4.« 25 Ufc=rd

Question Number : 71 Question Id : 54062619706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Team was launched by top fund managers of private sector and blue-chip venture capital firms in April 2020.

Options :
1. # Equity COVID
2. % Action COVID



3. # Profit COVID
4. * Investment COVID

Question Number : 71 Question Id : 54062619706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y BT 3Ud 2020 T o7 &3 & I Hre UeUD! 3R -0 Ie Yol B! gR1 Al fan a7 1|

Options :

1. % Sfpl pifds
2. ¢ TR Difde
3. % Y difde
4. % FHoRr pifdg

Question Number : 72 Question Id : 54062619707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 55th Constitutional Amendment gave special powers to the Governor consequent to formation of which of the following states?
Options :

1. ¥ Arunachal Pradesh

2. # Sikkim

3. % Assam

4. % Mizoram

Question Number : 72 Question Id : 54062619707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

559 HaUTH® FRNE = U B [aRIY RIBR AU foraes uRkumRaey Fafarad o 9 fam a1 &1 764 fovar
Options :

1. ¢ 30T U™l

2. % Ryfdmpn

3. % 34H




4. % fASIRH

Question Number : 73 Question Id : 54062619708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the chairman of the Union Powers Committee of the Constituent Assembly?
Options :

1. % Sardar Vallabhbhai Patel

2. % H.C. Mookherjee

3. ¢ Jawaharlal Nehru

4. # Rajendra Prasad

Question Number : 73 Question Id : 54062619708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 1 dfaur a4 B Hota w1 afifa & sreae 92
Options :

1. % TRGR TEAHHTS Ued

2. % T gEolf

3. ¢ AT A8

4. % ol% U4TG

Question Number : 74 Question Id : 54062619709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendments made provision to form autonomous states within the state of Assam?
Options :

1. % 20th

2.% 22nd

3. % 24th

4. % 26th



Question Number : 74 Question Id : 54062619709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 fog JauRe Iy 3 3H Isg & HidR WA 4l & 76 BT ey foam
Options :
1. % 20d
2. ¢ 22d
3. % 24d
4. % 26d

Question Number : 75 Question Id : 54062619710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Constitution of India passed and adopted by the assembly?
Options :

1. ¥ 26th November 1949

2. % 26th January 1950

3. % 24th January 1950

4. % 16th July 1949

Question Number : 75 Question Id : 54062619710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o1 e Uy gRT & Tid 3R U= T3 412
Options :

1. ¢ 26 FdR 1949

2. % 26 SFART 1950

3. % 24 GFAR] 1950

4. % 16 TS 1949



Question Number : 76 Question Id : 54062619711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian shot putter Navin Chikara was suspended for years in March 2020 by global athletics body's (IAAF) Athletics Integrity
Unit for failing an out-of-competition dope test in 2018.

Options :
1. * three
2. % four
3. % two

4. * five

Question Number : 76 Question Id : 54062619711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TYafeeR] aiatel (IAAF) TYdfeR sfefiIct gfve gRr1 2018 B UfATIRdl & dgR =R1 (S19) URleful § fatd g1 o fol YR Qe
gex A [BRIBI A 2020 F Y o forg Fcifard o= faar man ol

Options :
1. % diH
2. ¥ dR
3.% Q)

4. % U

Question Number : 77 Question Id : 54062619712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following teams won the first edition of the Cricket World Cup in 1975?
Options :

1. % Australia

2. % New Zealand

3. ¥ West Indies

4. % India



Question Number : 77 Question Id : 54062619712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad @ 9 forg S A 1975 H fobdve fay U &1 Ugal YT Sidm
Options :

1. % 3fiecfer

2. % GOl

3. ¥ A SSi

4. % YRd

Question Number : 78 Question Id : 54062619713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following hosted the first-ever five-day Khelo India Winter in March 2020?
Options :

1. # Haryana

2. % Himachal Pradesh

3. # Jharkhand

4. % Jammu and Kashmir

Question Number : 78 Question Id : 54062619713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfed # @ forga drd 2020 H ¥ Ugd Uid feadiy Wl $f&ar fdex &1 Astert &1
Options :

1. % gigmom

2. % fguTad U™

3. % PRTES

4.« A 3R HIAR

Question Number : 79 Question Id : 54062619714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the only country to have won the 60, 50 and the 20-over Cricket World Cups?
Options :

1. ¥ India

2. % Australia

3. ¥ New Zealand

4. # England

Question Number : 79 Question Id : 54062619714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & o 91 UHE G31 & fST9H 60, 50 3R 20-3H1aR 1 fobdbe fay U il &7
Options :

1. HRd

2. # 3ffecfer

3. % Ioids

4. % U8

Question Number : 80 Question Id : 54062619715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Australia won the ICC Women's T20 World Cup 2020 by runs.
Options :

1. % 52

2.9 85

3. % 38

4. % 76

Question Number : 80 Question Id : 54062619715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3ffecferar A 1cc Afge 120 fagy %49 2020 H 9 S|

Options :
1. ® 52
2.9 85
3. % 38
4. % 76
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Question Number : 81 Question Id : 54062619716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of: 100 +25 x 8+ 2.5 x 16 +4 -2 of 5
Options :

1. = 30

2.9 32

3. % 40

4. % 36

Question Number : 81 Question Id : 54062619716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5T 100+ 25 x 8 +2.5 x 16 + 4 - 2 T HH J1d B |
Options :

1. % 30

2.9 32

3. % 40

4. % 36

Question Number : 82 Question Id : 54062619717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the result when 0.919191... is converted to a fraction?
Options :

1. * 17/19

2. % 13/17

3.4 91/99

4. % 21/23

Question Number : 82 Question Id : 54062619717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIe 0.919191... B T i & gRafdd fasan S g df ufvoms &1 g2
Options :

1. % 17/19

2. % 13/17

3.9 91/99

4. % 21/23

Question Number : 83 Question Id : 54062619718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the largest number which divides 44, 80 and 134 leaving the same remainder in each case.
Options :

1. * 180

2.¥ 18

3. % 36

4. % 540

Question Number : 83 Question Id : 54062619718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TSt T-AT JTd B SN 44, 80 3R 134 DI fAHTRTG b TS fRUFT & 99 Avhd Srsar gl
Options :

1. % 180

2.¥ 18

3. % 36

4. % 540

Question Number : 84 Question Id : 54062619719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the least number which when divided separately by 12, 18, 36 and 48 leaves 5 as remainder in each case.
Options :
1. % 181
2. % 241
3. % 481
4.9 149

Question Number : 84 Question Id : 54062619719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT TR T B3 FOR 12, 18, 36 3R 48 31T e fAHITIT v R Ul FUfd & 5 Avhd Blsd gl
Options :

1. % 181

2. % 241

3. % 481

4. 149

Question Number : 85 Question Id : 54062619720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of 5 consecutive odd numbers is 48 more than the last of these numbers. What is the average of first and the second number?
Options :

1. % 20

2. %15

3. % 12

4.9 10

Question Number : 85 Question Id : 54062619720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 HHTITT TaoH TReATS{ BT TNT, 37 AT o SHTS 3 I 48 3 g | U 3R GOR U &1 3id 31 82

Options :




1. #® 20
2. % 15
3. % 12
4.4 10

Question Number : 86 Question Id : 54062619721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A watch shop owner buys 50 watches from a wholesale dealer at (2/3)rd of the marked price. He plans to sell the watches at a minimum of 30
percent profit. What is the maximum discount he can give the customers to earn the minimum profit?

Options :

1. # 50 percent

2. % 20 percent

3. % 13.33 percent
4. % 33.33 percent

Question Number : 86 Question Id : 54062619721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tdh YSl & g HIfaid - U Ul AR U ffed e & (2/3)rd R 50 GfSAl &1 TRiaT| 98 ufedl ! <gAad 30 Ufa=id a1y IR o< &1
GISTT ST BT 8 | =GAdH TTH Sl B3 & 1T I8 UTgeh! o1 1D aH Fe fadl & Fobdll 6?2

Options :

1. % 50 gfa=rd

2. % 20 gfa=rd

3. 13.33 Ufa=rd

4. % 3333 gfaerd

Question Number : 87 Question Id : 54062619722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Asif offers a 40 percent discount on the marked price, then he makes a loss of 16.66 percent. What is the percentage of impurities (of no cost)
that has to be mixed to gain a 10 percent profit after the discount?



Options :

1. # 27 percent

2. # 24.24 percent
3. % 32 percent

4. % 43.25 percent

Question Number : 87 Question Id : 54062619722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3w = fafed Jed WR 40 UfARId &1 B T &, Ol 98 16.66 UTIRId BI JHH BT 6 | e &b a1 10 Wa=Td A UTed - o forg
(o1 Tt @) ot st &1 famn wifc=ia fier anfee?

Options :

1. % 27 gfard

2. % 2424 Yfa=rd

3. ¢ 32 Ufaerd

4. % 4325 Yfderd

Question Number : 88 Question Id : 54062619723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are 25 percent and 40 percent more than a third number. What is the first number as a percentage of the second number?
Options :

1. # 88(1/7) percent

2. % 112 percent

3. % 80 percent

4. ¥ 89(2/7) percent

Question Number : 88 Question Id : 54062619723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l AT 25 UFARId § SR st TReAm ¥ 40 U= $1fid 8 | guRt TReA1 & UfaRId & &0 H Uga IRed 1 g2

Options :




1. % 88(1/7) ufa=rd
2. % 112 gfa=rd
3. % 8o Ufa=rd
4. ¥ 89(2/7) Ufa=rd

Question Number : 89 Question Id : 54062619724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 percent of 20 percent of a number is what percent of 50 percent of 5 percent of the same number?
Options :

1. # 40 percent

2. % 400 percent

3. % 4 percent

4. ¥ 0.4 percent

Question Number : 89 Question Id : 54062619724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot ST o 20 URTA BT 50 UTeT=Te, I HBAT b 5 =T BT 50 UfI=Id T 52
Options :

1. % 40 Ufd=rd

2. ¥ 400 Ufd=Td

3. % 4 yfcRrd

4. % 0.4 gfaerd

Question Number : 90 Question Id : 54062619725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number increased by 16.66 percent, 14.28 percent, 9.09 percent and 11.11 percent respectively and after it decreased by 12.5 percent, 8.33
percent, 14.28 percent and 10 percent respectively. Find the total (approximate) change in percentage.

Options :



1. # 10 percent
2. % 20 percent
3. % 30 percent
4. ¥ 0 percent

Question Number : 90 Question Id : 54062619725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TRSAT T HH: 16.66 TR, 14.28 AR, 9.09 YA 3R 11.11 I &1 gk §8 & 3R 3P aIC 9 HAT: 12.5 WA=, 8.33
=T, 14.28 TR SR 10 UfA=Td &t HH! g8 | Ufa=rd H & (TFTHT) URadH J1d B |

Options :

1. % 10 gfawrd
2. % 20 Ufard
3. % 30 gfa=rd
4. ¢ o gfa=rd

Question Number : 91 Question Id : 54062619726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 80 percent boys and 85 percent girls passed Semester 1 exam, then a total of 216 students of a college failed in Semester 1. If 30 percent boys
and 20 percent girls failed Semester 2 exam, then a total of 313 students failed the Semester 2 exam. What percentage of the total students are
girls in the college? (approximately)

Options :

1. % 63 percent
2. % 37 percent
3. % 30 percent
4. % 45 percent

Question Number : 91 Question Id : 54062619726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 80 Uf<Id Aed! SR 85 TR TSl § YRR | B TRIeq S<il o, df JAex | § Heifaaay & $d 216 B fawd gul afd 30




Tfe=RId Te o 3R 20 U= defhal YU 2 3t RieT & [Awhd gu, df Y8R 2 &1 01el & $d 313 BT fawd 81 Y| Helfaerad & $d
ST Bt foba=T ufaera asfear €2 (@)

Options :

1. % 63 gfrd

2. ¢ 37 Ufard

3. % 30 gfawrd

4. % 45 gfaerd

Question Number : 92 Question Id : 54062619727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh bought 200 watches for Rs. 150 per watch. He spent Rs. 10000 for transportation and sold each watch for Rs. 250. What is the profit
percentage?

Options :

1. # 20 percent
2. % 30 percent
3. % 25 percent
4. % 24 percent

Question Number : 92 Question Id : 54062619727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA 150§qqqﬁragﬁmzooa%qi"@ﬂa°ﬂ I9 URag & AT 10000 ¥UT ST YTAM fhaT 3IR Td® g8t &1 250 TIT H oAT| AT
gfa=rd 1 82

Options :

1. % 20 gfard
2. % 30 Ufard
3. ¢ 25 Ufa=id
4. % 24 gfaerd

Question Number : 93 Question Id : 54062619728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Mohan marks up his items 20 percent above its cost price and gives a discount of 15 percent on it. In order to achieve higher profits, he cheats his
customers by using weight of 950 grams instead of 1kg. What is his approx net profit/loss percentage?

Options :

1. # Profit of 5.2 percent
2. # Profit of 17.5 percent
3. ¥ Profit of 7.4 percent
4. ® Profit of 9.2 percent

Question Number : 93 Question Id : 54062619728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Higd A 31U a3 ! P AT Hed ¥ 20 Wia=d SR fofgd #al 8 3R S WR 15 U= &1 B¢ ol g | 3= arH U & & g,
I8 kg & SO 950 UM ol T SUANT BB U TTEH| B ST & | BT STHIT L& ATH/BTH Uia=rd & 82

Options :

1. % 52 gfa<rd &1 amy

2. % 17.5 Yfa=Id &1 a1y

3. ¢ 7.4 Yfd &1 o

4. % 9.2 Uf=Id BT ATH

Question Number : 94 Question Id : 54062619729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dealer was giving a 20 percent discount on the marked price of a phone. Raju used his credit card and got a further rebate of Rs 300. If the
dealer had purchased the phone for Rs 5000 and made a 10 percent profit on the sale, how much higher was the marked price than the cost price?

Options :

1. ¥ 45 percent
2. % 20 percent
3. % 40 percent
4. % 55 percent

Question Number : 94 Question Id : 54062619729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS qoral B & FIfgd Tou WR 20 Ua=Id &t §e ¢ 8T UT1 A A 30 hiee HTS BT IUUNT fhar 3R 300 TUT &1 31f% Fe U &1 | afe
faghar A 5000 ¥UT H HF WRIGT 3R faht TR 10 Wia=rd &1 ey Sifofd fasa, df anTd 9o &1 gan 3 fafgd I fooa eifdes ume

Options :

1. ¢ 45 gfa=id
2. % 20 Ufd=rd
3. % 40 yfawrd
4. % 559fq=rd

Question Number : 95 Question Id : 54062619730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman distributed 250 chocolates among four kids such that the share of the first kid, twice the share of the second kid, thrice the share of the
third kid and four times the share of the fourth kid are all equal. Find the number of chocolates received by the first kid.

Options :
1. % 30
2. % 40
3. % 60
4.9 120

Question Number : 95 Question Id : 54062619730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3 IR =l o Sfle 250 Tl 9 AXE S1e) B Uge] o T R, R o o o & ST &, e el o of = T e SR =)
= &1 IR AT T, T SRISR 8 | U8 9= §RT U Tidbaie o el J1d By |
Options :

1. # 30
2. % 40
3. % 60
4.4 120




Question Number : 96 Question Id : 54062619731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 1200 is divided among P, Q and R such that, the share of P is one-fourth of the share of R and is equal to one-third the share of Q. The
difference between the shares of Q and R is Rs.

Options :
1. ¥ 150
2. % 300
3. % 450
4. % 600

Question Number : 96 Question Id : 54062619731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1200 TYT B! P, Q 3R R P 19 39 aRg dicl 7T & P p &1 FT R & T &1 Uap-auTs fewn g 3R Q & TR w1 uop-fags f@ &
RER 51 Q AR R & fgedl # ¥UU BT SR 3|

Options :

1. ¥ 150

2. % 300

3. % 450

4. % 600

Question Number : 97 Question Id : 54062619732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An old man wanted to write his will and called his lawyer. He had a total wealth of Rs. 234 lakh to be given to his three sons Ajay, Bhanu and
Chandu. He wanted his money to be divided among Ajay, Bhanu and Chandu in the ratio of 1/2 : 1/3 : 1/4. The lawyer, by mistake wrote the ratio
as 2 : 3 : 4. What is the maximum resulting gain for any of the sons?

Options :

1. #* Rs. 56 lakh
2. % Rs. 45 lakh
3. % Rs. 50 lakh
4. % Rs. 40 lakh



Question Number : 97 Question Id : 54062619732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U g1 fad 30T I fera=T amgdr T 3R 30 gebid & gardT| 39S U §d 234 AR $UU &1 YUl At 5 39 il 9t 3o,
YT 3R g ®I ot o AT | I8 aTed o7 for ST U1 3o/, I SR Ig & & 1/2 : 1/3 : 1/4 & 3FUT | §c oY | a1l A, TTeT I ST
2: 3 : 4 fora | fopeft ot g1 & foru siftreraw ufvome em-onfay @ 82

Options :

1. % 56 TG ¥UT

2. % 459G AU

3. ¥ 50 ARG AU

4. % 40 G 3T

Question Number : 98 Question Id : 54062619733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of present ages of Gopal and Verma is 3 : 5. The sum of ages of Ram and Gopal 3 years from now will be 40 years and the sum of ages
of Ram and Verma 8 years from now will be 60 years. What would be the sum of the ages of Ram, Gopal and Verma after 2 years from now?

Options :

1. * 44 years
2. ¥ 65 years
3. * 60 years
4. #= 54 years

Question Number : 98 Question Id : 54062619733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M 3R IHT B ITHA TG BT SUT 3 : 5 7 | I SR TNUTE DT 3T BT AT 3F F ABR 3 T4 H 40 T ST 3R I 3R THT B AT B
T S W ABR 8 IY H 60 TN I | 36 I Tx 2 T H A, TUTe SR 901 DT g FHT I 1 g

Options :
1. % 4499
2. 65TY



3. % 60dy
4. % 54T

Question Number : 99 Question Id : 54062619734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum was invested under compound interest, interest being compounded annually. If it fetches Rs. 2880 as interest in the second year and Rs.
3456 as interest in the third year, find the annual rate of interest.

Options :

1. # 15 percent
2. % 20 percent
3. % 25 percent
4. % 30 percent

Question Number : 99 Question Id : 54062619734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ioh gl SIS & dgd U MR &1 e farar mar o1, for) saret a1ffer 0 § wrshafeg foram S €1 afe a8 gk an # oa1e o &0 H 2880
FUY YT B g 3R AR I8 & &7 & =0 H 3456 T U HRT |, <l TS b1 aifies &2 J1d He |
Options :

1. % 15 gfawd
2. ¢ 20 Ufdid
3. % 25 gfaerd
4. % 30 gfa=rd

Question Number : 100 Question Id : 54062619735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between compound interest and simple interest for 2 years at 8 percent per annum is Rs 160. Find the principal.
Options :

1. ¥ Rs. 25000

2. % Rs. 20000



3. # Rs. 35000
4. * Rs. 30000

Question Number : 100 Question Id : 54062619735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfd T 8 Tfa=Td R 2 98 & foTT Tehgfeg STl SfR AR STl & &g &1 3R 160 $UT § | AU J1d DR |

Options :

1. % 25000 >UUd
2. % 20000 >Ud
3. % 35000 ®UU
4. % 30000 vUg
Arithmetic Ability2
Group Number : 6
Group Id : 540626759
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 540626941
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261136
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062619736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nihal invests Rs. 1000 for 10 years at a simple interest of 10 percent p.a. Every subsequent year, he adds Rs. 100 less than the previous year (Rs.
900, 800, . . .) at the same interest rate and maturity. How much will he accumulate at the end of 10 years?

Options :

1. * Rs. 8850
2. % Rs. 8350
3. ¥ Rs. 9350
4. * Rs. 7850

Question Number : 101 Question Id : 54062619736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgTa 3 ufaad 10 Hfa=rd & AR ST TR 10 T & fRIT 1000 FUU T2 fbT | UAS Srad! oy &, A & &) iR URT&al R fUad
gy &1 gaT H 100 TUT HH (900 TUT, 800 ¥UY,. . ) ShSdl g | I§ 10 I8 & 3fd H ford=1 STHT

Options :

1. % 8850 3UY

2. % 8350 30U

3. ¢ 9350 3UU

4. % 7850 %UU

Question Number : 102 Question Id : 54062619737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Two persons invested Rs. 25000 each at 8 percent simple interest for a period of 6 years. At the end of 6 years, one person invested the amount
obtained, for a period of 2 years at the rate of 10 percent compounded annually while the other person invested the amount obtained, for a period
of 2 years at 12 percent p.a. simple interest. Find the difference between the compound interest and simple interest earned by the two persons.

Options :

1. % Rs. 1280
2. ¥ Rs. 1110
3. # Rs. 1560
4. ® Rs. 2645

Question Number : 102 Question Id : 54062619737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l il 7 6 a8 B SarY & Y 8 U1 ATUROT ST TR TS 25000 AT A= fhU | 6 a8 & 3id H, T fad A W AR 10
gfa=Id a1 Tehgfa @1 ax U 2 a4 Hi 3fafdy o fore o forar, Siafe gar aafad = Ui f & uidas 12 Tia=rd SRl & |R 2 a9
@1 3afty & forg o fosan | &t sfdas gRT siffd Isrgfa SaTeT 3R ATURUN TS & o d 6T SfaR 1 B2

Options :

1. % 1280 ®UU
2.9 1110%4U
3. % 1560 ®UU
4, % 2645300

Question Number : 103 Question Id : 54062619738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohit starts driving from Delhi to Ambala at 5 AM and Rohit starts driving from Ambala to Delhi at 6 AM. Rohit is 50 percent faster than
Mohit. When will they meet if Mohit and Rohit are 300 km apart and Mohit's speed is 60 kmph?

Options :

1. % 7:30 AM
2. % 7:45 AM
3. % 7:48 AM
4. ¥ 7:36 AM



Question Number : 103 Question Id : 54062619738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aifed 5 gate &l faceh I iaTe o fore Siefd == ovar g iR Afd 6 Yafg &1 siaren § fiech & forg e & war g | Afga Aifga @
50 Ufa=Id ool g | afg Migd 3R A T gOR 300 km G & IR FEd Bt 7RI 60 kmph & a1 d Hd el

Options :

1. % 7:30 Gaig
2. % 7:457dlg
3. % 7:48 QaTg
4. 736 Jd1g

Question Number : 104 Question Id : 54062619739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Distance covered by a train in the first hour is 40 km, distance covered in the second hour is 43 km, distance covered in the third hour is 46 km
and so on for 10 hours. What will be the total distance covered by the train in these 10 hours?

Options :

1. * 458 km
2. % 520 km
3.9 535 km
4. % 550 km

Question Number : 104 Question Id : 54062619739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

giﬁﬂ%@;%ﬁﬁ%ﬁmﬁﬂé@mm%@@ﬁ%ﬁmﬁﬂé@% km ©, TR ¢ T 0 &1 718 g3l 46 km § MR 10 i & forg
g I

2 10 HTl B YAIS GRT TG &1 T8 $d gl FT gRI?

Options :

1. # 458 km

2. % 520 km



3. % 535km
4. % 550 km

Question Number : 105 Question Id : 54062619740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B ran a race of 200 m from point X to point Y. A defeated B by 20 m. They decided to compete again but this time they decided that A
would run from 5 m further behind X and B would run from a point 15 m ahead of X. Who would win the race in this case?

Options :

1. % It will be a tie

2. % A will win by 0.5 m
3. % Awillwinby 1 m
4. % Bwill win by 1 m

Question Number : 105 Question Id : 54062619740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR BATIG X ATIG Y TP 200 m BT AMSI A 7 B B 20 m I AT| 51+ b § Ul o531 1 Aol forn I s9 IR S5 ad
fBarfh A, X ¥ 5 m T A2 3R B, X A 15 m M 1271 =9 UMY T X I S

Options :

1. % Ug Uh SRIeR] Dl gRTI

2. ¥ A,0.5m 3 Siiam

3. % A1 m Y S

4. % B, 1 m I Siam

Question Number : 106 Question Id : 54062619741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If twenty persons can complete 4/5th of the work in twelve days, then find how many more persons will be required to complete the remaining
work in one and half days.

Options :
1. ¥ 20



2. % 30
3. % 25
4. % 24

Question Number : 106 Question Id : 54062619741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe S =afad IRE &1 § S &7 4/5 91 gl QR R Favdl , Al 1A D (b /Y BT Bl S ot | G = o o fovae! $iR aafaaat ot
STl B |

Options :

1.9 20

2. % 30

3. % 25

4. % 24

Question Number : 107 Question Id : 54062619742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 men work 8 hours per day to complete one third piece of work in 36 days. If the remaining work is done by 24 men working 6 hours per day,
then in how many days the remaining work will be completed?

Options :

1. # 25 days
2. ¥ 28 days
3. % 30 days
4. % 20 days

Question Number : 107 Question Id : 54062619742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7 3MTEH 36 foi H &1 & T TS e &1 1 HA & fog Ul 3 8 € 1 &R § | Ife I B Bl 6 °e Ul G &1H Hvep 24
3t g1 fopar oiran 8, a2 o fovam foeml & R g

Options :



1. % 25faT
2. ¢ 28 feT
3. % 30feq
4. % 20feT

Question Number : 108 Question Id : 54062619743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A lays a road in 7 days and B in 8 days. When they work together, their efficiency comes down and they together lay 1/2 km less per day as
compared to what they were supposed to lay. If the road is laid in 4 days, what is the length (in km) of the road laid?

Options :

1. % 21 km
2. % 28 km
3. % 35km
4. % 42 km

Question Number : 108 Question Id : 54062619743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, 7 et ¥ uss fawTdr 8 9iR B, 8 ol A s fSo1ar 31 519 3 U 1Y 10 Hd &, dl 370! Gafdl HH 8 9Tl 8 3R fora1 3= fasm
TMRT AT I A1 | 3 U 3T 1/2 om FH TS& f9S1d &1 S TS 4 oAl o foars ol 8, Ot foreTs 718 Usd &t dars (km H) 1 R2
Options :

1. % 21 km

2. % 28 km

3. % 35km

4. % 42 km

Question Number : 109 Question Id : 54062619744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of 10 men can do a job in 15 days. The group starts working and after every three days they are joined by two more men. On which day
does the job get completed?



Options :
1. # 11th
2. ¥ 12th
3. # 10th
4. % 13th

Question Number : 109 Question Id : 54062619744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 T3Y! 1 T THE 15 ol H T HH B Ahdl ¢ | TG HIH BT L B § 3R 8L dF a1 b §1 &l 3R T3 3 1Y JSd g
forg & BT/ qR1 81 SITE

Options :

1. % 11d

2. ¢ 124

3. % 10d

4. % 13d

Question Number : 110 Question Id : 54062619745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The perimeter of an equilateral triangle is 84 cm. What is the area of the triangle?
Options :

1. #* 140 sq. cm

2. % 410.6 sq. cm

3. ® 144 sq. cm

4. % 339.5 sq. cm

Question Number : 110 Question Id : 54062619745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP JHaETg Y &7 GRHTT 84 cm 8| Y &7 &30 1 82

Options :



1. # 140 sq. cm
2. % 410.6 sq. cm
3. % 144 sq. cm
4. % 339.5sq.cm

Question Number : 111 Question Id : 54062619746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The height of a conical toy is 12 cm and the radius of its base is 5 cm. Find the cost of painting of the toy from outside at the rate of Rs. 28 sq. cm
and the painter does not paint the base of the toy. (Use & = 22/7)

Options :

1. % Rs. 5750
2. % Rs. 5730
3. # Rs. 5740
4. ¥ Rs. 5720

Question Number : 111 Question Id : 54062619746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% VHTHR FAA &1 FITS 12 ecm T 3R 3T 3MYR B AT 5 cm 81 28 FUT sq. cm P &2 J T8 I R BT T4 Bt ARTd J1d B3
3R FHaTA I & 3MUYR B [T 781 81 (= 22/7 BT YA HY)

Options :

1. # 57504
2. % 5730%UU
3. % 5740 U
4. % 5720300

Question Number : 112 Question Id : 54062619747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the ratio of the area of an equilateral triangle to the area of a circle, having the same perimeter. (Use © = 22/7)
Options :



1. % 16:21\3
2. % 25:21\3
3. % 20:21\3
4.9 22213

Question Number : 112 Question Id : 54062619747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 0 & & & (o4 THaTg Y & 8 HT ST J1d B, DT GRATT THE § 1 (x = 22/7 BT YA $HY)
Options :

1. % 16: 213

2. % 25:21\3

3. % 20:21\3

4. 22 : 213

Question Number : 113 Question Id : 54062619748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the marks obtained by five candidates in six different subjects in an examination. The numbers in the brackets give the
maximum marks in each subject. What is the total marks obtained by candidate C?

SUBIJECTS (FULL MARKS) A B c D E
Maths(150) 123 101 135 147 a5
English(150) 140 133 126 95 125

Physies (120) 96 82 114 96 87
History (120) 110 105 98 114 108
Geography (100) 77 92 64 100 61
Music (50) a6 36 a0 24 a2
Options :
1. % 575
2. % 587

3. ¥ 577



4. %= 585

Question Number : 113 Question Id : 54062619748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaad aiferet U Tien & g SIeT-3ra fawl §f Ui SMHiGaR] gRT UK 3! &1 G-ITdl 8 | HIFH A 41 T3 AT e fawg o
HTYGHIH 3 T § | SHIGAR C GRT W 1 3 FT g2

fawa (qut o) A B c D E

TIfOTe (150) 123 101 135 147 95

3Tt (150) 140 133 126 95 125

yifaet (120) 9 a2 114 96 a7

gTaeT™ (120) 110 105 98 114 108

'lfﬁ?l (100) 77 92 64 100 61

T (50) 46 36 40 24 a2
Options :
1. % 575
2. % 587
3.9 577
4, % 585

Question Number : 114 Question Id : 54062619749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table gives the information about number of employees in five departments of a company in six different years. The total number
of employees in corporate department is what percent of the total number of employees in marketing department over the given period?



Department (Number of Employees)
Year Production | Marketing | Corporate | Accounts R&D
2014 150 25 50 45 75
2015 225 40 45 62 70
2016 450 65 30 90 73
2017 470 73 32 105 70
2018 500 20 35 132 74
2019 L05 5 40 120 75
Options :

1. # 68.4 percent
2. ¥ 64.8 percent
3. % 65.6 percent
4. ® 66.5 percent

Question Number : 114 Question Id : 54062619749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad aifcie B8 Srav-orav aul § U Ut & Ui faumT & HHaRa) &) W& & SHGR] ¢dl & | IaRe [aHRT § HHaTal &t
Hd I, < T3 fafd B fauumE fqum & wranial &) go TRe 1 faran ufawrd 82

o fum (it &t w5@m
IdTeH g PHIUNC @rdr R&D

2014 150 25 0 45 5
2015 225 40 45 62 70
2016 450 65 30 a0 i3
2017 470 i3 32 105 70
2018 500 80 35 132 74
2019 205 75 40 130 75




Options :

1. % 68.4 gfa=rd
2. ¢ 64.8 Ufa=Id
3. % 65.6 Ufa=rd
4. % 66.5 Ufa=rd

Question Number : 115 Question Id : 54062619750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie chart shows the viewership of different knowledge based channels in the month of December, 2019. There are no overlaps in
viewership of channels. During the given period, viewership of how many channels is more than 25 percent of the total viewership?

Viewership of different knowledge based
channels

Options :
1.¥1
2. %2
3.%3
4. % 4



Question Number : 115 Question Id : 54062619750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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& 77E 3afy & SRM, o Tl &b <Rieh! o1 TSN, H G| Bl T b 25 U J 31fdb 82

Rafirm e el o gt
e

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 116 Question Id : 54062619751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diagram given below shows the heads of expenditure under various categories in percentages in a budget of Rs. 2880 lakh of an industry.
How much amount, in lakh of rupees is saved, if miscellaneous allocation is not utilised and 10 percent of the canteen budget is over spent?



Heads of expenditure

Miscellaneous
8%

Options :
1. % 2304
2.¥ 1872
3. % 432
4. % 432

Question Number : 116 Question Id : 54062619751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fear T 3RRg T IENT & 2880 TRI UL & Fore H, ufasrd & faftya A0 & ded T & Wl o gifdr 81 ardl $uu H, feat
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Options :
1. % 230.4
2.¥ 18722
3. % 432
4. % 432

Question Number : 117 Question Id : 54062619752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph below shows the sales of Milk of three brands from 2011-2014. In which brand/s was there a regular decrease in sales?
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Options :
1. ¥ Amul
2. % Saras

3. # Mother Dairy
4. % Amul and Saras both

Question Number : 117 Question Id : 54062619752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3Hd

2. % A

3. % AR S

4. % I 3R WY g

Question Number : 118 Question Id : 54062619753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph below shows number of different seven electronic appliances produced and passed in a test. Which one of the following electronic
appliances has the maximum difference between appliances produced and passed?
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Electronic appliances
Options :
1. ® Air Conditioner
2. % Tablet

3. # Washing Machine
4. ¥ Television

Question Number : 118 Question Id : 54062619753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® gIdrJdpad-
2. % TqaAC

3. % ¢S R
4.« Coiifde

Question Number : 119 Question Id : 54062619754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line graph is showing the number of accidents in two cities X and Y during the last six months of a year. The difference of the accidents in
the month of August for the two cities is what percent of the 6 month total accidents of city Y?



—=—City X —=CityY
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Number of Accidents
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Options :

1. # 15.5 percent
2. % 13 percent
3. % 15 percent
4. ¥ 14.5 percent

Question Number : 119 Question Id : 54062619754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 155 gfa=rd
2. % 13 gfard
3. % 15 Yfawd
4. ¥ 14.5 gfa=rd

Question Number : 120 Question Id : 54062619755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the number of viewers at prime time over the week. On which of the following days was the number of viewers
the minimum?
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Options :

1. ® Sunday

2. ¥ Wednesday
3. ® Friday

4. ¥ Monday

Question Number : 120 Question Id : 54062619755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3fdar
2. ¢ gYdR
3. ® YPAR
4. % GHaR
General English1

Group Number : 7
Group Id : 540626760
Group Maximum Duration : 0
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Question Number : 121 Question Id : 54062619756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In some regions, most notably in Awadh, the (1)/ rebellion take upon the attributes of a patriotic (2)/ revolt against European oppression. (3)/ No
Error (4)

Options :
1. # In some regions, most notably in Awadh, the
2. ¥ rebellion take upon the attributes of a patriotic

3. % revolt against European oppression.
4. % No Error

Question Number : 121 Question Id : 54062619756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In some regions, most notably in Awadh, the (1)/ rebellion take upon the attributes of a patriotic (2)/ revolt against European oppression. (3)/ No
Error (4)



Options :

1. # In some regions, most notably in Awadh, the
2. ¥ rebellion take upon the attributes of a patriotic
3. # revolt against European oppression.

4. ® No Error

Question Number : 122 Question Id : 54062619757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Alongside the monsoon season between June and (1)/ September, the unbroken Western Ghats chain (2)/ acts as a barrier to the moisture-laden
clouds. (3)/ No Error (4)

Options :

1. ¥ Alongside the monsoon season between June and
2. % September, the unbroken Western Ghats chain

3. % acts as a barrier to the moisture-laden clouds.

4. ® No Error

Question Number : 122 Question Id : 54062619757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Alongside the monsoon season between June and (1)/ September, the unbroken Western Ghats chain (2)/ acts as a barrier to the moisture-laden
clouds. (3)/ No Error (4)

Options :

1. ¥ Alongside the monsoon season between June and
2. # September, the unbroken Western Ghats chain

3. % acts as a barrier to the moisture-laden clouds.

4. ® No Error

Question Number : 123 Question Id : 54062619758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Large scale clearing of primary forest and (1)/ expansion of the agriculture acreage is (2)/ most to blame for this. (3)/ No Error (4)
Options :

1. ® Large scale clearing of primary forest and

2. ¥ expansion of the agriculture acreage is

3. #® most to blame for this.

4. ® No Error

Question Number : 123 Question Id : 54062619758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Large scale clearing of primary forest and (1)/ expansion of the agriculture acreage is (2)/ most to blame for this. (3)/ No Error (4)
Options :

1. #® Large scale clearing of primary forest and

2. ¥ expansion of the agriculture acreage is

3. % most to blame for this.

4. % No Error

Question Number : 124 Question Id : 54062619759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The harmful results of fragmentation are worsened by increased (1)/ acidity, over-fertilization and drought, as these cause a further (2)/
deteriorate in the quality of the habitat remain. (3) No Error (4)

Options :
1. # The harmful results of fragmentation are worsened by increased

2. # acidity, over-fertilization and drought, as these cause a further



3. % deteriorate in the quality of the habitat remain.
4. ® No Error

Question Number : 124 Question Id : 54062619759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The harmful results of fragmentation are worsened by increased (1)/ acidity, over-fertilization and drought, as these cause a further (2)/
deteriorate in the quality of the habitat remain. (3) No Error (4)

Options :

1. # The harmful results of fragmentation are worsened by increased
2. % acidity, over-fertilization and drought, as these cause a further
3. % deteriorate in the quality of the habitat remain.

4. ® No Error

Question Number : 125 Question Id : 54062619760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In 1914 Enfield supplied enlarged numbers of (1)/ motorcycles to the British War Department and also won a (2)/ motorcycle contract for the
Imperial Russian Government. (3)/ No Error (4)

Options :

1. ¥ In 1914 Enfield supplied enlarged numbers of

2. % motorcycles to the British War Department and also won a
3. % motorcycle contract for the Imperial Russian Government.
4. ® No Error

Question Number : 125 Question Id : 54062619760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



In 1914 Enfield supplied enlarged numbers of (1)/ motorcycles to the British War Department and also won a (2)/ motorcycle contract for the
Imperial Russian Government. (3)/ No Error (4)

Options :

1. ¥ In 1914 Enfield supplied enlarged numbers of

2. ®¥ motorcycles to the British War Department and also won a
3. ® motorcycle contract for the Imperial Russian Government.
4. % No Error

Question Number : 126 Question Id : 54062619761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Security is (freed from, or resiliencing against, potential harm) or other unwanted coercive change caused by others.
Options :

1. ® freedom from, or resiliencing against, potent harm

2. ¥ freedom from, or resilience against, potential harm

3. # freeing from, or resilience against, potential harm

4. ® No Correction Required

Question Number : 126 Question Id : 54062619761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Security is (freed from, or resiliencing against, potential harm) or other unwanted coercive change caused by others.
Options :

1. # freedom from, or resiliencing against, potent harm

2. ¥ freedom from, or resilience against, potential harm

3. # freeing from, or resilience against, potential harm

4. % No Correction Required



Question Number : 127 Question Id : 54062619762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The better-known combat units in (where abroad nationals served in another country's army force) are the Gurkha regiments of the British Army
and the Indian Army, and the French Foreign Legion.

Options :

1. # where abroad nationales serve in any other country's army forces
2. % which foreign nationals serve in another country's armed forces

3. # which foreign nationales serving in another country's armed forces

4. % No Correction Required

Question Number : 127 Question Id : 54062619762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The better-known combat units in (where abroad nationals served in another country's army force) are the Gurkha regiments of the British Army
and the Indian Army, and the French Foreign Legion.

Options :

1. # where abroad nationales serve in any other country's army forces
2. % which foreign nationals serve in another country's armed forces

3. % which foreign nationales serving in another country's armed forces

4. # No Correction Required

Question Number : 128 Question Id : 54062619763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



In a general (business sense, logistics is the managing flow) of things between the point of origin and the point of consumption to meet
requirements of customers or corporations.

Options :

1. ¥ business sense, logistics is the management of the flow
2. ® business sense, logistics are managing the flow

3. % business sense, logistics is managing of flowing

4. % No Correction Required

Question Number : 128 Question Id : 54062619763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In a general (business sense, logistics is the managing flow) of things between the point of origin and the point of consumption to meet
requirements of customers or corporations.

Options :

1. ¥ business sense, logistics is the management of the flow
2. ® business sense, logistics are managing the flow

3. # business sense, logistics is managing of flowing

4. ® No Correction Required

Question Number : 129 Question Id : 54062619764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In Nine men's Morris board game players try to form "'mills'—(three of there own men lining straightly or erectly)—allowing a player to remove
an opponent's man from the game.

Options :
1. ® three of their own men lining straightly or erectly

2. % three of there own men lined horizontally or straightly



3. % three of their own men lined horizontally or vertically

4. # No Correction Required

Question Number : 129 Question Id : 54062619764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In Nine men's Morris board game players try to form "'mills'—(three of there own men lining straightly or erectly)—allowing a player to remove
an opponent's man from the game.

Options :

1. % three of their own men lining straightly or erectly

2. % three of there own men lined horizontally or straightly
3. ¢ three of their own men lined horizontally or vertically

4. # No Correction Required

Question Number : 130 Question Id : 54062619765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Caffeine can a mild form of drug dependence — associated with withdrawal symptoms such as sleepiness, headache, and
irritability — when an individual stops using caffeine after repeated daily intake.

Options :

1. # destroy
2. % delay
3. % produce

4. % reckon

Question Number : 130 Question Id : 54062619765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the appropriate word.

Caffeine can a mild form of drug dependence — associated with withdrawal symptoms such as sleepiness, headache, and
irritability — when an individual stops using caffeine after repeated daily intake.

Options :

1. # destroy
2. % delay
3. % produce

4. % reckon

Question Number : 131 Question Id : 54062619766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The aviation travel industry is affected by the of fog conditions.
Options :

1. ¥ enactment

2. ¥ severity

3. ® aristocracy

4. # urbanity

Question Number : 131 Question Id : 54062619766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The aviation travel industry is affected by the of fog conditions.
Options :

1. # enactment

2. ¥ severity

3. % aristocracy

4. # urbanity



Question Number : 132 Question Id : 54062619767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

After the loss at the Third Battle of Panipat, the Maratha Empire into several confederate states, and the resulting political
instability and armed conflict severely affected economic life in several parts of the country.

Options :

1. ¥ disintegrated
2. # torpedoed

3. % impenetrated
4. % violated

Question Number : 132 Question Id : 54062619767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

After the loss at the Third Battle of Panipat, the Maratha Empire into several confederate states, and the resulting political
instability and armed conflict severely affected economic life in several parts of the country.

Options :

1. ¥ disintegrated
2. ® torpedoed

3. ® impenetrated
4. % violated

Question Number : 133 Question Id : 54062619768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The Kaufmanns planned to large groups of people, so the house needed to be larger than the original plot allowed.
Options :



1. # portent
2. * dissuade
3. # surfeit

4. ¥ entertain

Question Number : 133 Question Id : 54062619768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The Kaufmanns planned to large groups of people, so the house needed to be larger than the original plot allowed.
Options :

1. #* portent

2. % dissuade

3. % surfeit

4. % entertain

Question Number : 134 Question Id : 54062619769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a few sentences have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these
parts can be rearranged to form a meaningful and grammatically correct sentences.

Hybridization between

P: parent. However, hybrids are not, as might be expected, always intermediate between their
Q: parental lineage or variety. This is most common

R: parents but are sometimes stronger or perform better than either

S: reproductively isolated species often results in hybrid offspring with lower fitness than either

with plant hybrids.
Options :

1. ¥ SPRQ

2. % RQPS



3. # PQRS
4. % QRPS

Question Number : 134 Question Id : 54062619769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a few sentences have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these
parts can be rearranged to form a meaningful and grammatically correct sentences.

Hybridization between

P: parent. However, hybrids are not, as might be expected, always intermediate between their
Q: parental lineage or variety. This is most common

R: parents but are sometimes stronger or perform better than either

S: reproductively isolated species often results in hybrid offspring with lower fitness than either

with plant hybrids.
Options :

1. ¥ SPRQ

2. % RQPS

3. # PQRS

4. % QRPS

Question Number : 135 Question Id : 54062619770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a few sentences have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these
parts can be rearranged to form a meaningful and grammatically correct sentences.

The company name

P: four car companies that banded together to create Audi's predecessor

Q: is based on the Latin translation of the surname of the founder, August Horch. "Horch",
R: four rings of the Audi logo each represent one of

S: meaning "listen" in German, becomes "audi" in Latin. The



company, Auto Union.
Options :

1. # SQPR

2. % RQSP

3. ¥ PQSR

4. ¥ QSRP

Question Number : 135 Question Id : 54062619770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a few sentences have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these
parts can be rearranged to form a meaningful and grammatically correct sentences.

The company name

P: four car companies that banded together to create Audi's predecessor

Q: is based on the Latin translation of the surname of the founder, August Horch. "Horch",
R: four rings of the Audi logo each represent one of

S: meaning "listen" in German, becomes "audi" in Latin. The

company, Auto Union.
Options :

1. % SQPR

2. % RQSP

3. ¥ PQSR

4. ¥ QSRP

Question Number : 136 Question Id : 54062619771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Butterflies are insects in the macrolepidopteran clade Rhopalocera from the order Lepidoptera, which also includes moths.



P: Winged adults lay eggs on the food plant on which their larvae, known as caterpillars, will feed. This is called metamorphosis.

Q: We are talking about butterflies, they have the typical four-stage insect life cycle.

R: When metamorphosis is complete, the pupal skin splits, the adult insect climbs out, and after its wings have expanded and dried, it flies off.
S: The caterpillars grow, sometimes very rapidly, and when fully developed, pupate in a chrysalis.

Some butterflies, especially in the tropics, have several generations in a year, while others have a single generation, and a few in cold locations
may take several years to pass through their entire life cycle.

Options :

1. # RQPS
2. % SPQR
3. % QPSR
4. % PRSQ

Question Number : 136 Question Id : 54062619771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Butterflies are insects in the macrolepidopteran clade Rhopalocera from the order Lepidoptera, which also includes moths.

P: Winged adults lay eggs on the food plant on which their larvae, known as caterpillars, will feed. This is called metamorphosis.

Q: We are talking about butterflies, they have the typical four-stage insect life cycle.

R: When metamorphosis is complete, the pupal skin splits, the adult insect climbs out, and after its wings have expanded and dried, it flies off.
S: The caterpillars grow, sometimes very rapidly, and when fully developed, pupate in a chrysalis.

Some butterflies, especially in the tropics, have several generations in a year, while others have a single generation, and a few in cold locations
may take several years to pass through their entire life cycle.

Options :

1. # RQPS
2. % SPQR
3. ¥ QPSR
4. ¥ PRSQ

Question Number : 137 Question Id : 54062619772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

By 55,000 years ago, the first modern humans, or Homo sapiens, had arrived on the Indian subcontinent from Africa, where they had earlier
evolved.

P: These sites gradually developed into the Indus Valley Civilisation, the first urban culture in South Asia, which flourished during 2500—-1900
BCE in what is now Pakistan and western India.

Q: After 6500 BCE, evidence for domestication of food crops and animals, construction of permanent structures, and storage of agricultural
surplus appeared in Mehrgarh and other sites in what is now Balochistan.

R: During the period 2000-500 BCE, many regions of the subcontinent transitioned from the Chalcolithic cultures to the Iron Age ones.

S: The earliest known modern human remains in South Asia date to about 30,000 years ago.

The Iron Age is the final epoch of the three-age division of the prehistory and protohistory of humanity.
Options :

1. ® PQRS

2. % QRSP

3. # RPQS

4. ¥ SQPR

Question Number : 137 Question Id : 54062619772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

By 55,000 years ago, the first modern humans, or Homo sapiens, had arrived on the Indian subcontinent from Africa, where they had earlier
evolved.

P: These sites gradually developed into the Indus Valley Civilisation, the first urban culture in South Asia, which flourished during 2500-1900
BCE in what is now Pakistan and western India.

Q: After 6500 BCE, evidence for domestication of food crops and animals, construction of permanent structures, and storage of agricultural
surplus appeared in Mehrgarh and other sites in what is now Balochistan.

R: During the period 2000-500 BCE, many regions of the subcontinent transitioned from the Chalcolithic cultures to the Iron Age ones.

S: The earliest known modern human remains in South Asia date to about 30,000 years ago.



The Iron Age is the final epoch of the three-age division of the prehistory and protohistory of humanity.

Options :

1. # PQRS
2. % QRSP
3. ¥ RPQS
4. ¥ SQPR

Question Number : 138 Question Id
Orientation : Vertical

: 54062619773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Disband
Options :

1. # Gelatinous
2. % Demobalize
3. % Loquacious
4. ¥ Assemble

Question Number : 138 Question Id
Orientation : Vertical

: 54062619773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Disband
Options :

1. # Gelatinous
2. % Demobalize
3. % Loquacious
4. ¥ Assemble

Question Number : 139 Question Id

: 54062619774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Waft
Options :

1. % Cry

2. ¥ Drift
3. # Hold
4. % Scratch

Question Number : 139 Question Id : 54062619774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Waft
Options :

1. % Cry

2. ¥ Drift
3. % Hold
4. % Scratch

Question Number : 140 Question Id : 54062619775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Sanguine
Options :

1. # Undoubtful
2. # Spirited

3. ® Taurine



4. ¥ Depressed

Question Number : 140 Question Id : 54062619775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Sanguine
Options :

1. * Undoubtful
2. # Spirited

3. % Taurine

4. ¥ Depressed
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Question Number : 141 Question Id : 54062619776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Enfranchise
Options :

1. ¥ Emancipate
2. * Restrain

3. # Incarcerate
4. * Substitute

Question Number : 141 Question Id : 54062619776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Enfranchise
Options :

1. ¥ Emancipate
2. % Restrain

3. # Incarcerate
4. % Substitute

Question Number : 142 Question Id : 54062619777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Diffident
Options :

1. # Confident
2. % Boastful
3. % Bashful

4. % Tgnorant

Question Number : 142 Question Id : 54062619777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Diffident
Options :

1. # Confident
2. # Boastful
3. ¥ Bashful

4. ® Tgnorant

Question Number : 143 Question Id : 54062619778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ TOMORROW

2. % TOMMORROW

3. ¥ TOMOROW

4, ¥ TOMMOROW



Question Number : 143 Question Id : 54062619778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ TOMORROW

2. ¥ TOMMORROW

3. ¥ TOMOROW

4. ¥ TOMMOROW

Question Number : 144 Question Id : 54062619779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ BELWETHER

2. ¥ BELWHETHER

3. ¥ BELLWHETHER

4. ¥ BELLWETHER

Question Number : 144 Question Id : 54062619779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ BELWETHER

2. % BELWHETHER

3. ¥ BELLWHETHER

4. ¥ BELLWETHER

Question Number : 145 Question Id : 54062619780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ MINESCULE

2. ¥ MINUSCULE

3. % MINSCULE

4. % MENUSCULE

Question Number : 145 Question Id : 54062619780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % MINESCULE

2. % MINUSCULE

3. ¥ MINSCULE

4. % MENUSCULE

Question Number : 146 Question Id : 54062619781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # CONSCIENTOUS

2. % CONSIENTIOUS

3. ¥ CONSCIENTIOUS

4. % CONCENTIOUS

Question Number : 146 Question Id : 54062619781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options :

1. # CONSCIENTOUS
2. % CONSIENTIOUS

3. ¥ CONSCIENTIOUS
4. % CONCENTIOUS

Question Number : 147 Question Id : 54062619782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ONOMOTOPOEIA

2. % ONOMATOPEIA

3. ¥ ONOMATOOPEIA

4. ¥ ONOMATOPOEIA

Question Number : 147 Question Id : 54062619782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ONOMOTOPOEIA

2. % ONOMATOPEIA

3. ¥ ONOMATOOPEIA

4. ¥ ONOMATOPOEIA

Question Number : 148 Question Id : 54062619783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Barking up the wrong tree.



Options :

1. #® To get angry with a person who hasn't done any wrong.
2. % To speak loudly wanting everyone's attention.

3. # To support someone with bad intentions.

4. ¥ To ask the wrong person or follow the wrong course.

Question Number : 148 Question Id : 54062619783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Barking up the wrong tree.

Options :

1. # To get angry with a person who hasn't done any wrong.
2. # To speak loudly wanting everyone's attention.

3. # To support someone with bad intentions.

4. ¥ To ask the wrong person or follow the wrong course.

Question Number : 149 Question Id : 54062619784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Blow your own trumpet.

Options :

1. # Making one's own fool.

2. ¥ Tell people how good or successful you are.

3. % Being angry with yourself for not being able to achieve something.

4. % Being happy/satisfied/content with yourself.

Question Number : 149 Question Id : 54062619784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Blow your own trumpet.

Options :

1. ¥ Making one's own fool.

2. ¥ Tell people how good or successful you are.

3. % Being angry with yourself for not being able to achieve something.

4. # Being happy/satisfied/content with yourself.

Question Number : 150 Question Id : 54062619785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Scrape the barrel.

Options :

1. # Putting too much effort to do something.

2. # Putting effort on something/someone which won't reap any fruit.
3. % Using something you do not want to but you’ve no option.

4. % A stupid act.

Question Number : 150 Question Id : 54062619785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Scrape the barrel.

Options :

1. # Putting too much effort to do something.

2. % Putting effort on something/someone which won't reap any fruit.
3. ¥ Using something you do not want to but you’ve no option.

4. ® A stupid act.



Question Number : 151 Question Id : 54062619786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Under a cloud.

Options :

1. # Being very religious.

2. % Being under suspicion or in trouble.

3. % Being very down to earth.

4. # Being at a place which is at a very high altitude.

Question Number : 151 Question Id : 54062619786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Under a cloud.

Options :

1. # Being very religious.

2. ¥ Being under suspicion or in trouble.
3. % Being very down to earth.

4. # Being at a place which is at a very high altitude.

Question Number : 152 Question Id : 54062619787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

Relics or monuments (such as coins, statues, or buildings) of ancient times.
Options :
1. # Gems

2. % Antiquities



3. % Vintage

4. % (Classics

Question Number : 152 Question Id : 54062619787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

Relics or monuments (such as coins, statues, or buildings) of ancient times.
Options :

1. # Gems

2. % Antiquities

3. # Vintage

4, % (Classics

Question Number : 153 Question Id : 54062619788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

Someone who can detect truth when it is being told, with the ability itself being referred to as truthsense.
Options :

1. # Trueman

2. # Trueness

3. ¥ Truthsayer

4. % Trueborn

Question Number : 153 Question Id : 54062619788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

Someone who can detect truth when it is being told, with the ability itself being referred to as truthsense.



Options :

1. # Trueman
2. # Trueness
3. ¥ Truthsayer

4. % Trueborn

Question Number : 154 Question Id : 54062619789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The act of formally requiring or calling upon someone to perform an action.
Options :

1. ¥ Requisition

2. % Conundrum

3. # Persuation

4. % Dramatics

Question Number : 154 Question Id : 54062619789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The act of formally requiring or calling upon someone to perform an action.
Options :

1. ¥ Requisition

2. % Conundrum

3. # Persuation

4. % Dramatics

Question Number : 155 Question Id : 54062619790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word' for the expression given below.

To increase the scope, power, or importance of something/ someone.
Options :

1. # Captivate

2. % Invocation

3. ¥ Aggrandize

4. # Enchante

Question Number : 155 Question Id : 54062619790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

To increase the scope, power, or importance of something/ someone.
Options :

1. # Captivate

2. # Invocation

3. ¥ Aggrandize

4. % Enchante

Sub-Section Number : 2
Sub-Section Id : 5406261139
Question Shuffling Allowed : Yes

Question Id : 54062619791 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

An endgame table base is a computerized database that contains pre-calculated exhaustive analysis of chess postions for the last few pieces of the
game. It is typically used by a computer chess engine during play, or by a human or computer that is retrospectively analysing the end of a game
that has already been played. Tablebases are generated by retrograde analysis, working backwards from a checkmated position. By 2005, all
chess positions for last six pieces had been solved. By August 2012, tablebases had solved chess for every position with up to seven pieces

The solutions have profoundly advanced the chess community's understanding of endgame theory. Some positions which humans had analysed as



draws were proven to be winnable. Endgame analysis has also been used to create solutions for Tic Tac Toe, crosses and checkers . Chess from
the starting position has not been solved because of its complexity.

There has been some controversy whether to allow endgame studies composed with tablebase assistance into composing tournaments. In 2003,
the endgame composer and expert John Roycroft summarised the debate: Not only do opinions diverge widely, but they are frequently adhered to
strongly, even vehemently: at one extreme is the view that since we can never be certain that a computer has been used it is pointless to attempt a
distinction, so we should simply evaluate a 'study' on its content, without reference to its origins; at the other extreme is the view that using a
'mouse’ to lift an interesting position from a ready-made computer-generated list is in no sense composing, so we should outlaw every such
position

Sub questions

Question Number : 156 Question Id : 54062619792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The endgame tablebase is used for:
Options :

1. * Checkers

2. % Chess

3. # Tic Tac Toe

4. % All of the given above

Question Number : 157 Question Id : 54062619793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option.

Options :

1. # The databases could not find all the solutions for ending a game.

2. % Some positions which humans had analysed as draws were proven to be winnable.
3. ¥ Human mind has come out with newer solutions to end the game.

4. % The solutions have had barely any effect on the chess community's understanding.

Question Number : 158 Question Id : 54062619794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is done in retrograde analysis?



Options :

1. # Tablebases are generated with the help of a code breakers.

2. # Tablebases are generated by calculating each move from last few pieces to a checkmated position.
3. # Tablebases are generated by finding permutations and combinations for each step during the game.

4. ¥ Tablebases are generated by working backwards from a checkmated position.

Question Number : 159 Question Id : 54062619795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the endgame database contains?

Options :

1. #® Only moves in each possible position that would take to finish the game with limited deaths of own team.
2. % Only moves in each possible position that would take to finish the game in the shortest time possible.

3. ¥ Each possible move in each possible position, and how many moves it would take to finish the game calculated for last few pieces of the
game.

4. # Each possible move in each possible position, and how many moves it would take to achieve finish the game calculated from the beginning
for the entire game.

Question Number : 160 Question Id : 54062619796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why has endgame theory not been used for composing tournaments?

Options :

1. ¥ Because it involves using a 'mouse’ to lift an interesting position from a ready-made computer-generated list.
2. # Because it was proved that humans could come out with more methods to end the game.

3. % Because the procedures used for developing endgame database was incorrect.

4. % Because there is always a competition between man and machine.

Question Id : 54062619791 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.



An endgame table base is a computerized database that contains pre-calculated exhaustive analysis of chess postions for the last few pieces of the
game. It is typically used by a computer chess engine during play, or by a human or computer that is retrospectively analysing the end of a game
that has already been played. Tablebases are generated by retrograde analysis, working backwards from a checkmated position. By 2005, all
chess positions for last six pieces had been solved. By August 2012, tablebases had solved chess for every position with up to seven pieces

The solutions have profoundly advanced the chess community's understanding of endgame theory. Some positions which humans had analysed as
draws were proven to be winnable. Endgame analysis has also been used to create solutions for Tic Tac Toe, crosses and checkers . Chess from
the starting position has not been solved because of its complexity.

There has been some controversy whether to allow endgame studies composed with tablebase assistance into composing tournaments. In 2003,
the endgame composer and expert John Roycroft summarised the debate: Not only do opinions diverge widely, but they are frequently adhered to
strongly, even vehemently: at one extreme is the view that since we can never be certain that a computer has been used it is pointless to attempt a
distinction, so we should simply evaluate a 'study' on its content, without reference to its origins; at the other extreme is the view that using a
'mouse’ to lift an interesting position from a ready-made computer-generated list is in no sense composing, so we should outlaw every such
position

Sub questions

Question Number : 156 Question Id : 54062619792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The endgame tablebase is used for:
Options :

1. ® Checkers

2. % Chess

3. %* Tic Tac Toe

4. ¥ All of the given above

Question Number : 157 Question Id : 54062619793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option.

Options :

1. ¥ The databases could not find all the solutions for ending a game.

2. % Some positions which humans had analysed as draws were proven to be winnable.
3. ¥ Human mind has come out with newer solutions to end the game.

4. % The solutions have had barely any effect on the chess community's understanding.



Question Number : 158 Question Id : 54062619794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is done in retrograde analysis?

Options :

1. # Tablebases are generated with the help of a code breakers.

2. % Tablebases are generated by calculating each move from last few pieces to a checkmated position.
3. # Tablebases are generated by finding permutations and combinations for each step during the game.

4. ¥ Tablebases are generated by working backwards from a checkmated position.

Question Number : 159 Question Id : 54062619795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the endgame database contains?

Options :

1. # Only moves in each possible position that would take to finish the game with limited deaths of own team.
2. # Only moves in each possible position that would take to finish the game in the shortest time possible.

3. % Each possible move in each possible position, and how many moves it would take to finish the game calculated for last few pieces of the
game.

4. ® Bach possible move in each possible position, and how many moves it would take to achieve finish the game calculated from the beginning

for the entire game.

Question Number : 160 Question Id : 54062619796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why has endgame theory not been used for composing tournaments?

Options :

1. ¥ Because it involves using a 'mouse' to lift an interesting position from a ready-made computer-generated list.
2. % Because it was proved that humans could come out with more methods to end the game.

3. # Because the procedures used for developing endgame database was incorrect.

4. ® Because there is always a competition between man and machine.
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Question Number : 161 Question Id : 54062619797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy |, IR fadweul 7 9, 39 fawed &1 994 &3 o1l foba1 o Y arer Il fawed 8l

T M1 WIHR ST
Options :

1. ¢ QdpIicid fohdl




2. % RN fopa
3. % Ammyrg foean
4. % I foar

Question Number : 161 Question Id : 54062619797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufoRed Uy |, IR fadweul 7 ¥, 39 fawed &1 994 &3 o1l foba1 o Y arer Il fawed gl

B G @B A
Options :

1. ¢ QdpIicId fohd
2. % TRUMe o
3. % Furd foban

4. % IR foar

Question Number : 162 Question Id : 54062619798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy §, IR fowedl 7 9, 39 faweu &1 97 &% St 39T & He 1 Jat fdbeu gl
o1 ugf @ @ R

Options :

1. ¢ TRy sreqg
2. % GHEYEIYD 30y
3. % fquqaifadius sy
4. % YYD T

Question Number : 162 Question Id : 54062619798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFufafad vy A, IR Al § T, 39 faswed &1 T B3 It 3100 & Y &1 Jal f[ddbed gl |
Aot i @ W@ R

Options :

1. ¢ fopaTfa=IeT 3feoy
2. % FHHTSIYD Y
3. % fquqaifadiu® sy

4. % IeYSIYPH Y

Question Number : 163 Question Id : 54062619799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofied vy 8, IR fawed! § 9, 39 fadhed &1 997 &< il HIadrad 431 $1 el [dded T o
Options :

1. % JYdl

2. HOER

3. % 9™

4. % Q=G

Question Number : 163 Question Id : 54062619799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ecal 7 9, 39 f9hcu &1 987 &3 S Hidd™as I3 &7 el fashed 78l g1
Options :

1. % J4di

2. ¥ HOR

3. % 9

4. % Q=G

Question Number : 164 Question Id : 54062619800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy #, IR fowedl 7 9, 39 fdded &1 99 & ol DIFH H QT U Xeg & AR Fa-H & U &I ! [dbed ol

fHRIR SOTR 741 4T, (T8) dic Mg |
Options :

1. % FSara®

2. % I drIh

3. % UYdrddh

4. ¥ Yg dADH

Question Number : 164 Question Id : 54062619800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & aR fawedl § 9, 39 fadmed &1 98 &1 off BING H U T e & SIUR o+ & U &1 Ue! fawed gl
fer IR STSIR 77 T, (d%) e 3T g

Options :

1. % foidrae
2. % X dlddh
3. #® UYdiddh

4. ¢ Ry IS

Question Number : 165 Question Id : 54062619801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us H, IR fadedl # 9, I [dhed BT T B Sl HIgD | U T Wsd o AR 4RIV o Ve arell fdbed gl
(@) 3MTeH Igd R Y T3

Options :

1. ¢ graie
2. % 3fAYd gRA IS
3. % [AfYd S=mas




4. % TUETED

Question Number : 165 Question Id : 54062619801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad Uy ¥, IR faswedl B 9, 39 fdded &1 9= B ol HI¥d T AT U e o 3HR IRVl & Ue ara fadhed Bl
(@) 3MTeH Igd R Y T3

Options :

1. ¢ IS

2. % 3T uRHT0T drad
3. % Ff¥q Emaras

4. % TUIETD

Question Number : 166 Question Id : 54062619802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR o cdl § 9, 39 fahcd &1 I8 &Y Ol SXIol Ueg b1 et f[dbed gl
Options :

1. ® dgd

2. % YR

3. ¢ Ydpl

4. % W[d

Question Number : 166 Question Id : 54062619802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed uy ¥, IR fawcdl 8 9, 39 f9ded &1 997 Y S <RI eg 1 Igt [adbed gl
Options :

1. % dg4

2. % R




3. ¥ Yadhl
4. % WId

Question Number : 167 Question Id : 54062619803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy §, IR fasedl B 9, 39 fdded &1 9g- I ol faU U Weg & fo1T T8t deg=y 0 o faug &1 fawed 31|
GINRE

Options :

1. % A RIS

2.« Yl BT IS
3. % & o I
4. % S I IS

Question Number : 167 Question Id : 54062619803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us #, IR fadedl | 4, 39 fached &1 =g o Sl {3T 7T Yeg & fo1T At deqey JH™ & 998 &1 fdhed 51|
GINKE

Options :

1. # RIS

2. « <l &1 T
3. % & forg I
4. % IS

Question Number : 168 Question Id : 54062619804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy #, IR Al 7 9, 39 fawed &1 999 B3 ol feT U Ueg BT adH U Bl




sl

Options :
1. ¥ TG
2. % g
3. % gIR
4. % gRb

Question Number : 168 Question Id : 54062619804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy #, IR Al 7 9, 39 fawed &1 999 B3 Y ST U Yeg BT dH U Bl

sdl

Options :
1V qYP
2. % g
3. % gIR
4. % gRD

Question Number : 169 Question Id : 54062619805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR eeal 7 9, 39 fahcu o1 987 &% Ot 2T 7T Yo & YT Vet b1 el f[dbed T8l g |
forg

Options :
1. % gHd
2.« [l
3. % Yid]
4. % gy



Question Number : 169 Question Id : 54062619805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR el 7 9, 39 fawca o1 97 &% Ot feT 7T Yo & YTigaTel Ueg b1 el fddhed T8l 5|
forg

Options :
1. #* JHA
2. AYl
3. % Yifd]
4. % Qi

Question Number : 170 Question Id : 54062619806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed Uy 5, IR faeedl § 9, 39 fddey &1 999 &3 Gl faed Teg BT Jad 3] [dhed B
gdadi

Options :
1. % W
2. % Yqf
3. ¢ WRadl
4. % Yid

Question Number : 170 Question Id : 54062619806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & 3, 39 9wy &1 T B o fadH e T a9 33T fAbed 5|
gdadf

Options :
1. % I




2. % ygfd
3.« TRl
4. % rd

Question Number : 171 Question Id : 54062619807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy §, IR fawedl § O, 39 I8! fadey o1 I B3 Sl Tl & ol U e o1 fadhed 8|

S 1[ed Y@ WY
Options :

1. % OIRd

2. % TIRY

3. %7y

4. ¢ MUY

Question Number : 171 Question Id : 54062619807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR epedl 7 9, 39 I8! faped &1 T 3 Sl IRl & ol Ueh Yo &1 fadb ey 8|
EEEISSELEIRE Y

Options :

1. ® Uid
2. % TIRY
3. % 7Y

4. MUY

Question Number : 172 Question Id : 54062619808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 I8! fased &1 T &3 SN foTU 77T Wreg & Tg) 31 &1 IfId fapeu 81




He
Options :
1. # fRT
2. % §ig
3. % HY
4, ¥ YRTd

Question Number : 172 Question Id : 54062619808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR oeeal 7 9, 39 I8! fased &1 7 &3 SNl feTU 17U 2reg & Tg) 31 &1 Ifyd fapeu 81

He
Options :
1. % Ry
2. % dl9
3. % HY
4. ¥ YRTd

Question Number : 173 Question Id : 54062619809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed oy & IR fawedl § 9, 39 el fawed &1 997 & S Rad RIF & o Iuged et &1 el [dwed 3|
R St &1 A iR 1 5|

Options :
1. % A&
2. ¥ A
3. % g
4. % Hd




Question Number : 173 Question Id : 54062619809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed oy & IR fawedl § 9, 39 el fawed &1 997 o S Rad RIF & o Iuged et &1 el [dwed 3|
R St &1 A Eidex 1 5|

Options :
1. % A&
2. ¥ A
3. % g
4. % Hd

Question Number : 174 Question Id : 54062619810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawedl o 9, 39 fdaed &1 997 &3 off Y e T ol [abed 5|
Options :

1. # firdwifer

2. ® firqivret

3. ® Tiidierat

4.« fidietfer

Question Number : 174 Question Id : 54062619810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 faewey &1 7o &3 Sl Y e &1 Ta! fAwea 71
Options :

1. % fircetfer

2. % firdiorat

3. % Tfdiorel!

4. ¢ Tidiefal




Question Number : 175 Question Id : 54062619811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawedl o 9, 39 fdaed &1 997 &< off Y e T ol [abed 5|
Options :

1. % 3f<Tdg

2. % 3Hd:Yq

3. % g

4. 3fqyH

Question Number : 175 Question Id : 54062619811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 7o &3 S Y Ve 1 Ta! fAwea 71
Options :

1. % 3T

2. % 3Hd:Ylq

3. % 3fqyiA

4. 3fay

Question Number : 176 Question Id : 54062619812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy &, TR fawedl § 9, 39 [y &1 T &3 Sl fau 70 Teg & G <ree &1 faded 721 B
AR

Options :

1. ® IIRfEd

2. ¢ fadreT

3. % Hg



4. % i

Question Number : 176 Question Id : 54062619812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR foecdl 7 9, 39 ey &1 9a7 3 o faT T8 2reg & Famf 2o o1 fawed 781 81
TR

Options :

1. % oTRfed

2. ¢ fqdieq

3. % HAg

4. % i

Question Number : 177 Question Id : 54062619813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H, IR fowddl 7 9, 39 8! f[dded &1 99 & off [QU U Xea-H & 3 &1 g [ddhed gl |

d iR Aed
Options :

1. % Tt iR uF
2. % 3G 3R AT
3. ¢ TigHt 3R AlgT
4. % qhd 3R TAIGI

Question Number : 177 Question Id : 54062619813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, IR fadenl O 9, 39 9g! [ddwed &7 9a &< il [GT U Weg-H o 31 &1 qg| [aded 71|

A 3R A




Options :

1. % Tl iR a9

2. % 3 R IAIGT
3. ¢ TG SR UG
4. % AT 3R TG

Question Number : 178 Question Id : 54062619814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead uy & IR fabedl & T, 39 fdbeu &1 Tg9 B &Y T d Wit =7 a1 fddbed g

Options :

1. %34

2. ¥ 3ToilfdepT
3. % D3l

4, % I

Question Number : 178 Question Id : 54062619814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR ieedl 7 9, 39 f9hcd &1 987 &Y oY Ted TWifell U Tl faeed g |

Options :

1. %34

2. ¢ 3TSiifdpT
3. % g3l

4, % I

Question Number : 179 Question Id : 54062619815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad Uy ¥, aR foded! & ¥, 39 fdewed &1 999 &< Sl Yed dgad- Xeg &1 Ty [ f[ddhed g |
Options :
1. % diqd

Question Number : 179 Question Id : 54062619815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad oy o, aR fowedl & T, 39 fawed &1 999 &3 Sl Yed dgad- Weg BT Tay 33T fadhed g |
Options :

1. # dlqd

2. % A

3. ¥ d[d

4. % |3

Question Number : 180 Question Id : 54062619816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaﬁr@?ru&rﬁ,mﬁwﬁﬁﬁ,wﬁwmwﬁ@ﬁwﬁﬁww%&wnmwmmﬂmmwﬁw
|

Options :

1. % (132 forsht Bt ot SR 1 TR T8 6 |

2. % (U8) F foddt +ft g1a § 1 g =R

3. % (89) TSl g1 faeett & forg xamm gl

4. (%) forsht &1 oft g1- 1@ 7t g AR T ol

Question Number : 180 Question Id : 54062619816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gmﬁ«r@ﬁmrﬁ,wﬁmq‘fﬁﬁ,wiamwmqw HX ol HIFD U AT T e & TR T Y I Ja-1H BT I 33T fadheq
|

Options :

1. % (e forddt bt oft 311e o e e B |

2. % (%) P forat ft g1a1 B @1 g =i

3. % (8Y) 311l 1 faeell & o a1 8|

4. (%) fost &1 oft - 1@ 78 w1 a1feu ol
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062619817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRad Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 ol [dded ol |

9g gardr dl & S
Options :

1. % Wiewy gaaeTa
2. ¢ BdedHa YdbTd
3. % A HidHTd
4. % G YdPTd

Question Number : 181 Question Id : 54062619817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRad Uy |, IR fAdwedl 7 ¥, 39 fdded &1 999 &3 o) faT TN 9190 & &1d &1 ol fdeed gl |
98 gardr i § S|

Options :

1. % i gdaHSd
2. ¥ Bdedye Yddld
3. % g Yiosrera

4. % U YdHTId

Question Number : 182 Question Id : 54062619818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawey &1 999 &2 Sl foU T8 arag & fore gy & v &1 9ad o1 [ased ]
9g ITut & foTe =1l U1 8|




Options :

1. % Hard

2. ¢ Hagrd

3. % faggd

4. % guldTede

Question Number : 182 Question Id : 54062619818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy o, TR fawet § 9, 39 fawey &1 7o &3 S fou T8 arey & e gfy & e &1 9e o1 fdwed g |
CRERIEANSERE SR

Options :

1. % Jhard

2. ¢ Fagrd

3. % faegd

4. % QUAEId®

Question Number : 183 Question Id : 54062619819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy §, IR eeal 7 9, 39 faw e &1 987 &% ot feu 7T are & foiw ugl & Ve &1 9ad 331 faheu 3|
= faemery o 8

Options :

1. % gofdrnde®
2. ¢ FAgaAras
3. % Tfaedd
4, % RUTID

Question Number : 183 Question Id : 54062619819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fawcu &1 987 &% ot feT 7T are & fol uai & Ve &1 9ad 331 fapeu 3|
CECRINESIRE

Options :

1. % gofdrnde®
2. ¢ Fgards
3. % Ffaedd
4. % RYIdH

Question Number : 184 Question Id : 54062619820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 7o &L S Y 91 T Ja 3737 fadheu 3|
Options :

1. % G & dIG I BT o 3 5

2. % G I qIE g H1 A AT

3. W & 916 Y& B A1 Afdd g

4, % G P 9I¢ O HI 31 g ]l

Question Number : 184 Question Id : 54062619820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fawenl § 9, 39 fawmed &1 70 &L Sl Y 91 T Ja 3737 fadhed g |
Options :

1. % W & dIC J& $T o A B

2. % G Y 91 @ HT 3 AT B

3. ¥ G & 91 @ BT AT AT B

4. % GF & 916 GO BT A e 3

Question Number : 185 Question Id : 54062619821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

foffed uy §, IR el 7 9, 39 faweu &1 997 &% St Tal arad U &1 fabeu gl

Ig 981 9= § oIt ol A w1e foran
Options :

1. % JYad qId

2. ¢ (Y a1

3. % Hogdre diH

4. % I 91

Question Number : 185 Question Id : 54062619821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadweul 7 ¥, 39 fdded &1 999 &3 Il el d1ad He &l f[ddbed gl
Ig g8 o= ¢ forgen! o = e foram ol

Options :

1. % Igod arR

2. ¢ By IR

3. % Hgadd A
4. % I I

Question Number : 186 Question Id : 54062619822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR fowedl 7 9, 39 faweu &1 97 &% St Tgl ara U &1 fasbeu gl
Sed! IR g1 SN, el df o Teit Siat|

Options :
1. % fqyTTara® ar
2. % I 91




3. % fog areg
4. GG A

Question Number : 186 Question Id : 54062619822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy §, IR fowedl 7 9, 39 faweu &1 997 &% St Tgl a1a Ve &1 fawbeu gl
Sed! IR g1 SN, el af o Teit Siat|

Options :

1. % fqYTardes a1
2. % WA I

3. % {9/

4. ¢ g a1

Question Number : 187 Question Id : 54062619823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad us o, IR fasedl # 9, 39 fddhed &1 9= B Sl fav g god a1 &1 el fddbed gl
Options :

1. ¥ =1 3 X! WA & Ryaas &l |" 38 gl

2. % - 3l AW T & Ryad &l 1" 39 FaTl

3. % - 30 T, I & Rydep 11" I Pgl

4. % '3, 3 G G & Ry " I BT

Question Number : 187 Question Id : 54062619823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 9, IR fasedl T 9, 39 fdewed &1 9g 3 off faR19 fag gad a1 &1 Iel fddbed |

Options :
1. ¢ 9! 31 G A & R al 1" 39 Hell




2. % TRE- 3 TRE! T &b Ryap 1" I HET|
3. % YRA- 3 TG, T & s T 1" I Hal
4. % G, 3N WG A & g gI" I HaT|

Question Number : 188 Question Id : 54062619824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfead vy #, IR fadbedl | 1, 39 fddbed &1 98 B Sl fav g o a1 &1 gt fdsbed 5|
Options :

1. % B 7 Y FE, "d Had JEIRI g3 6| S0 P ol gonl ¢ | fewd ¥@l!

2. ¢ Tl A U0 Fal, " Had JeIN §e ¢ | S P ol gl o | g x|

3. % Bl A ITY HET, " Had eIV Be & | S P ol gl & | ZHd 3|

4. % BT 7 IYY FE, "I HIT JBIN 85 o | 3¢ TS el g3 g2 fera @

Question Number : 188 Question Id : 54062619824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fawed & 4, 39 fdwed &1 99+ &3 ol TR fag god are o1 9al fdwed 71|
Options :

1. % 5t A 39N FE, "d Had JEIR §s o | S P ol gofl g | fewid z@n!

2. ¢ [t A ST HaT, "I FAA BN ES & | 3¢ TS -Toi gofl o | grma @1

3. % BT A ITY Bl "I Had JBIN §S & 1 I PO el go gl Tgwa <

4. % BT 7 IYY FE, "d HId JBIRT 8% o | 3¢ TS el gl g2 fewa @

Question Number : 189 Question Id : 54062619825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR famedl O 4, 39 fawed &1 99+ &< SN [aR1 foig god a1 &1 Aot fdded gl |
Options :

1. ® T ORP! S IETE, ¥ & I SRR A" g - Hel

2. % HORDI TIETE, 30 & 98 SGR 4, g4 A Fell




3. ¢ "8 ORI JTI@TE, 3 & ds U H 1" g A Fall
4. % T URP! T, ¥ & T8 qUR H2" g - Fal!

Question Number : 189 Question Id : 54062619825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy O, IR fawedl O 4, 39 faswed &1 o+ &< SNt faR1d forg god a1 o1 Aot fdded gl
Options :

1. % TP S IETE, ¥ P IS TUR H" g 3 Fgl

2. % T ORDI BT, 34 & 98 GGR H, g4 A Feall

3. ¢ U ORGP SIETE, 36 & 98 GFR H " g A FgT|

4. % T HARDI ST E, 76 & 99 GUR H2" g A Fa!

Question Number : 190 Question Id : 54062619826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 78 &1 off U T gTar &1 Te o aran fawed g

ST HR ST
Options :

1. ¢ B&d &fdd gl
2. % YA Bl

Question Number : 190 Question Id : 54062619826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Uy & IR fawe § 9, 39 fawey &1 7 &% off fau 7T Yerer o1 98t o aran fawe g

Sff 4R ST
Options :




1. ¥ §ad Gidd g
2. % JfHEE HAT
3. % ffEq g
4. % A

Question Number : 191 Question Id : 54062619827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad oy & o fawe # 9, 39 fawed &1 7 & off U U erer &1 Tet o aran fawey g
fCHRT MM @ IRl

Options :

Question Number : 191 Question Id : 54062619827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 9, 39 fadmed &1 7a &1 off U T8 gTar &1 Tet 3 aran fawed g

fCHRT SMHM ¥ IO
Options :

Question Number : 192 Question Id : 54062619828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafed oy & aR fawedl § 9, 39 fadmed &1 78 &1 off [T T8 gTar &1 Te 3 aran fawed g

PINEEINEI

Options :

1. % P gl

2. % ygid g

3. « ToNd-JT HR ST
4. % QGBI

Question Number : 192 Question Id : 54062619828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa oy & o fawe # 9, 39 fadwed &1 7 & off U 7T erer &1 Tet o aran fawey g

P IURCINEIE

Options :

1. ® TEA®H gl

2. % ygfid g

3. ¢ GoNg-JT HR AT
4. % g B

Question Number : 193 Question Id : 54062619829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofad uy & IR foeedl & T, 39 ey &1 Taa &1 ot <1 71 dipifad &1 Tet 3 arar ey g

SR WTTT < SR ST
Options :

1. % f§7T SRU $o o el g

2. ¢ P BT BT Aol §R1 81 8lal §
3. % g Qe

4. % AFRBIIAAGH



Question Number : 193 Question Id : 54062619829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofad uy & IR foeedl & T, 39 ey &1 Taa &3 ot <1 71 dipifad &1 Tet 3 arar ey g

SR WTTT < SR ST
Options :

1. % f§7T SRU $o o el g

2. ¥ NP B AN R 18
3. % g Qe

4. % S RBIAAAGH

Question Number : 194 Question Id : 54062619830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fawed &1 97 &3 St < 715 Aipifad &1 Tat 31 arett faweu g1
3 IR 3% U TS

Options :

1. ¥ TP & 1Y GIR &Y BT gl
2. % 9Od O]

3. % QIR

4. % U gTed UR IJP I8

Question Number : 194 Question Id : 54062619830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofad uy & IR fowedl & T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tet 31 arar ey g
S AR 3% Ud TS

Options :



1. ¥ TP & 1Y GIX &I BT gl
2. % 9Ud I

3. % Qe ay

4. % 301 geld IR HP X1

Question Number : 195 Question Id : 54062619831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy #, IR el 7 9, 39 fawed &1 987 &8 St < 715 Aipifad &1 Tat 31 arett faweu g1
HDhel P IR B! BT T8l &t STt

Options :

1. % gy R g &1 e R BT 8

2. ¢ ORTY & AR &1 &8 faar 1 31y
3. % BIC-Ts BT &AM 7 3G

4. % g4 a9 T 99 781 gId

Question Number : 195 Question Id : 54062619831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffad uy & IR foeedl & T, 39 ey &1 Ta &1 ot <1 718 dipifad &1 Tet 3 arar ey g
HDhgl P IR B B ) < S

Options :

1. % IR 9 &1 SR i 8

2. ¢ SRTY & IR &1 <3 far S anfey

3. % BIC-Ts BT &M 7 3G

4. % 99 fad U HHE T8l gId

Sub-Section Number : 2
Sub-Section Id : 5406261142
Question Shuffling Allowed : Yes



Question Id : 54062619832 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

frafeiad Taiw & ermyde ufgu 3R fau mu sk & 3w |

TT7el} <reel)-fhRcl) e it T R U1 3 BIE BIC ASh! Bl TR UM b forg Mielt Ty et FRebrel UTd &, SHONY SRR STd ¥y 5=
30 919 & I 81 o A1 3 Ul & o Wi Ugd gad-add HeMl & &9 § ToRId ied, Hiddl R 37 fawdt &1 31 v far &
Y| T ! WHd o & FaTd IR T 36 T g1 UT| U & Wpd H HRAIT S B! GIRIdT Tl (et oT| Tieh @ fa=y ge ffra
Tl ot | fhg S S0 Ja R HISal ®1 A i), Iwai- Tl gfaer g1 off | 17eh 3o Sl b1 STl Wpal H NSl AIGHINT & ol
3N 3R ST el e =mgd | fpfeg & mieht = nsmariRial & s=df & forw e urseme @ieh | el e 39 Uy e O 3R
31 It TEfRierds | e S BT W e R UTd U I GIRI DY A BT JUCY el ad A1 I A ot o e W i ok
Sifafira ghm ag faenfial &) arey ik Fuw urem 7Y Rkar urwm | Rieres &Y 3o fenfial & grer sierl v g =nfeu| 3% o ot
9 e, 98 98 $© UG SIad 3R P18 Tl 91 Ug od 31

Sub questions

Question Number : 196 Question Id : 54062619833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e S 3 310 Sl T SIS & WHd | aIRadl 1 Tg] HRarT?
Options :

1. % YRl H fobdl ot Hi a8l arRee o= 71 1

2. % B9 9gd He il ot

3. % Hifch ITcb Sl b1 TR g fredm

4. ¢ S gfaur 9 YR &1 9 fie 98 38 Ut =g =nfgu ot

Question Number : 197 Question Id : 54062619834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il Sff fbd UHR & BT fordil g &l H & o 78] pga o2
Options :

1. % S AT RUT B

2. ¥ Sl BTH d W g R Fhd &

3. % Sl 3! A Bl 9T




4. % R 9gd STl 81

Question Number : 198 Question Id : 54062619835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et S & SITUR U R o1 faenfiai & sita- § o1 Hew &2
Options :

1. % $o Wi 78l

2. ¢ e faanfil &1 smaxl gidr @

3. % B, e § Ffl-s oo draar g

4. % 218/ W1 FTe o I Tebdl ©

Question Number : 199 Question Id : 54062619836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=90 A DI - T Ueg HUAT BT YA Tt a1 82
Options :

1. % g

2. % Wipid

3. % AT

4. % f¥gid

Question Number : 200 Question Id : 54062619837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3¢ B Pls IUYad MNP
Options :

1. % TSIl

2. % 3fUSH TR

3. % GrATSIe NEHd

4. TR ST 3R IThT Rygial




Question Id : 54062619832 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

frafeiad Taiw & ermyde ufgu 3R fau mu sk & 3w |

TT7el} <reel)-fhRcl) e it T R U1 3 BIE BIC ASh! Bl TR UM b forg Mielt Ty et FRebrel UTd &, SHONY SRR STd ¥y 5=
30 919 & I 81 o A1 3 Ul & o Wi Ugd gad-add HeMl & &9 § ToRId ied, Hiddl R 37 fawdt &1 31 v far &
Y| T ! WHd o & FaTd IR T 36 T g1 UT| U & Wpd H HRAIT S B! GIRIdT Tl (et oT| Tieh @ fa=y ge ffra
Tl ot | fhg S S0 Ja R HISal ®1 A i), Iwai- Tl gfaer g1 off | 17eh 3o Sl b1 STl Wpal H NSl AIGHINT & ol
3N 3R ST el e =mgd | fpfeg & mieht = nsmariRial & s=df & forw e urseme @ieh | el e 39 Uy e O 3R
31 It TEfRierds | e S BT W e R UTd U I GIRI DY A BT JUCY el ad A1 I A ot o e W i ok
Sifafira ghm ag faenfial &) arey ik Fuw urem 7Y Rkar urwm | Rieres &Y 3o fenfial & grer sierl v g =nfeu| 3% o ot
9 e, 98 98 $© UG SIad 3R P18 Tl 91 Ug od 31

Sub questions

Question Number : 196 Question Id : 54062619833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e S 3 310 Sl T SIS & WHd | aIRadl 1 Tg] HRarT?
Options :

1. % YRl H fobdl ot Hi a8l arRee o= 71 1

2. % B9 9gd He il ot

3. % Hifch ITcb Sl b1 TR g fredm

4. ¢ S gfaur 9 YR &1 9 fie 98 38 Ut =g =nfgu ot

Question Number : 197 Question Id : 54062619834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il Sff fbd UHR & BT fordil g &l H & o 78] pga o2
Options :

1. % S AT RUT B

2. ¥ Sl BTH d W g R Fhd &

3. % Sl 3! A Bl 9T




4. % R 9gd STl 81

Question Number : 198 Question Id : 54062619835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et S & SITUR U R o1 faenfiai & sita- § o1 Hew &2
Options :

1. % $o Wi 78l

2. ¢ e faanfil &1 smaxl gidr @

3. % B, e § Ffl-s oo draar g

4. % 218/ W1 FTe o I Tebdl ©

Question Number : 199 Question Id : 54062619836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=90 A DI - T Ueg HUAT BT YA Tt a1 82
Options :

1. % g

2. % Wipid

3. % AT

4. % f¥gid

Question Number : 200 Question Id : 54062619837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3¢ B Pls IUYad MNP
Options :

1. % TSIl

2. % 3fUSH TR

3. % GrATSIe NEHd

4. TR ST 3R IThT Rygial




